
GENERAL NOTES:

1. LOGS AVERAGE PER PLAN, HAND PEELED FINISH.  UP TO 
1" VARIANCE IN LOG DIAMETERS TO BE EXPECTED.
2. LOG DIAMETER CALL-OUTS REFER TO "AVERAGE LOG 
DIAMETER" OF A LOG AND DO NOT TAKE INTO ACCOUNT 
THE TAPER AND SHAPE OF A NATURAL LOG.
3. ALL DIMENSIONS ARE TO THE CENTERLINE OF LOG 
WALLS, LOG POSTS AND FOUNDATION WALLS - UNLESS 
NOTED OTHERWISE.
4. LOG COURSING CALL-OUTS REFER TO THE COURSING OF 
A LOG - NOT FEET AND INCHES. THE DIMENSIONAL LOG 
WALL HEIGHTS SHOWN ON THE PLANS ARE TO BE 
CONSIDERED NOMINAL.
5. ALL HARDWARE AND INSTALLATION THERE-OF TO BE BY 
THE GENERAL CONTRACTOR - UNLESS NOTED OTHERWISE.
6. PRE-DRILLING FOR WALL PINS TO BE BY P.L.H. - SEE 
SHEAR-WALL SCHEDULE AND OR WALL ELEVATIONS FOR 
PIN SIZE AND SPACING.
7. ALL LOG POSTS TO BE CUT TO FINISH LENGTH BY 
GENERAL CONTRACTOR IN THE FIELD.
8. ALL DRILLING AND ROUTING FOR PLUMBING AND 
ELECTRICAL CHASES BY GENERAL CONTRACTOR IN FIELD.
8. P.L.T. RECOMMENDS BACK STAINING OF ALL LOG SIDING, 
LOG VENEER AND SAWN PLANK SIDING.
9. TIMBERS SUPPLIED BY P.L.H. WILL BE ACTUAL SIZE - PLUS 
OR MINUS 1/4" UNLESS NOTED OTHERWISE.
10. LOGS CRAFTED INTO AN ARCH OR CURVE WILL 
EXPERIENCE GREATER CHECKING THAN OTHER LOGS.
11. SIDING AND/OR LOG VENEER SUPPLIED BY P.L.H. WILL 
BE MATERIAL ONLY. ANY CRAFTING REQUIRED AT THE TIME 
OF INSTALLATION AND ANY CONNECTION HARDWARE WILL 
BE THE RESPONSIBILITY OF THE GENERAL CONTRACTOR.
12. P.L.T. RECOMMENDS THAT ALL THE UP-HILL CHECKS IN 
THE LOGS AND ANY GAPES BE CAULKED.
13. P.L.T. RECOMMENDS THAT ALL JOINTS BE FOAMED 
AFTER FINAL SET.
14. CHECKING IS A NATURAL PHENOMENON THAT OCCURS 
IN ALL WOOD ELEMENTS AND WILL NOT AFFECT THE 
ENGINEERING DESIGN VALUES.
15. P.L.T. RECOMMENDS THAT LOGS EXPOSED TO 
ELEMENTS BE FLASHED FOR PROTECTION.

** ANY VERTICAL SIDING SUPPLIED BY P.L.H. WILL BE 
SHIPPED BY THE BUNDLE CONTAINING RANDOM LENGTHS, 
WIDTHS, UN-EDGED 1x SIDING. GENERAL CONTRACTOR TO 
CUT TO FINISH LENGTH AND SUPPLY & INSTALL 
CONNECTION HARDWARE.

SPECIES AND GRADE:

LOGS WILL BE A COMBINATION OF WHITE WOOD (WW) 
SELECTED TO MEET THE FOLLOWING DESIGN VALUES -
UNLESS NOTED OTHERWISE.

FRAMING COMPONENT:                                   T.P.I. GRADE

TRUSSES AND PURLINS.................SELECT OR BETTER
FLOOR JOISTS AND TIE-LOGS.......SELECT OR BETTER
WALL LOGS AND POSTS..........WALL LOG 40 OR BETTER
TIMBERS..........................................#1 OR BETTER

GENERAL CONTRACTOR NOTE:

THE SPECIFICATIONS WITH-IN THIS PLAN SET ARE 
ACCURATE AS OF THE MOST RECENT DATE IN THE FIELD 
BLOCK. HOWEVER, IT SHALL BE THE GENERAL CONTRACTOR'S
TO CONFIRM AND VERIFY ALL SPECIFICATIONS WITH THE 
OWNER PRIOR TO CONSTRUCTION. PIONEER LOG HOMES 
ASSUMES NO  RESPONSIBILITY FOR FAILURE TO
PERFORM THE ABOVE.

PIONEER LOG & TIMBER
1344 HWY 93 NORTH
VICTOR, MONTANA

59875
PHONE: 406-961-3273
PLTMONTANA.COM

11
/5

/2
02

1 
3:

12
:0

5 
PM

TILLER RESIDENCE
LOS GATOS, CA

11
-5

-2
1

PLT SHEET LIST

Sheet Name Sheet Number
COVER PAGE A0.0
MAIN FLOOR PLAN A1.0
ELEVATIONS #1 A2.0
ELEVATIONS #2 A2.1
FOUNDATION PLAN S1.0
FOUNDATION PLAN - 3D VIEW S1.1
MAIN FLOOR FRAMING PLAN S1.2
ROOF FRAMING PLAN S1.3
LOG FRAME SCHEDULES S1.4
SECTIONS #1 S2.0
SECTIONS #2 S2.1
TRUSS ELEVATIONS #1 S3.0
TRUSS ELEVATIONS #2 S3.1
TYPICAL ROUND LOG DETAILS S4.0
ROUND LOG FOUNDATION DETAILS S4.1
ROUND LOG ROOF DETAILS S4.2
LOG WALL SHOP ELEVATIONS #1 S5.0
LOG WALL SHOP ELEVATIONS #2 S5.1
LOG WALL SHOP ELEVATIONS #3 S5.2
DETAILS S6.1
Grand total: 20

11/5/2021

STRUCTURAL ONLY



R
AN

G
E

DW

75' - 0"

11
' -

 0
"

30
' -

 0
"

28' - 0" 22' - 0" 25' - 0"

LIVING
ROOM

ENTRY

BEDROOM 
#1

BENCH

MUD 
ROOM

LAUNDRY

WASHER

DRYER

COAT CLOSET

SUN ROOM

MSTR.
BATH

HOOKS

CLOSET

PANTRY

MSTR
BEDROOM

C
O

U
N
TE

R

BENCH

KITCHEN

11
' -

 0
"

30
' -

 0
"

8'
 - 

0"

6' - 0" 75' - 0"

MECH

COVERED 
PORCHCOVERED 

PORCH REAR COVERED 
DECK

FL
AT

 C
EI

LI
N
G

1
6
' -

 0
"

V
A
U
LT

ED
 C

EI
LI

N
G

2
5
' -

 0
"

32x72
ISLAND

AHU

PT WH

BEDROOM 
#2

COVERED
ENTRY

6' - 0"

17
' -

 3
"

10
' -

 9
"

2'
 - 

0"

VAULTED CEILING

QUEEN BED

QUEEN BED

KING BED

1
4
' -

 3
 3

/4
"

6
' -

 2
"

9
' -

 6
 1

/4
"

81' - 0"

13' - 3 3/4" 2' - 10" 11' - 10 1/4" 3' - 1 1/4" 7' - 10 3/4"

VAULTED CEILING

DINING

6x7 TRACKED DOOR

LOG TRUSS

LOG TRUSS

6
-0

 O
PE

N
IN

G

H
O

O
KS

BATH

28' - 0" 11' - 0" 11' - 0" 25' - 0"

14' - 0" 14' - 0" 12' - 6" 12' - 6"

4'
 - 

5"
6'

 - 
7"

2'
 - 

4 
3/

4"
12

' -
 1

1 
1/

2"
10

' -
 0

"
4'

 - 
7 

3/
4"

1' - 11" 8' - 0" 8' - 0" 8' - 0" 2' - 1" 11' - 0" 11' - 0" 4' - 6" 12' - 6" 8' - 0"

9' - 0" 16' - 0"

6' - 3" 5' - 3 3/4" 3' - 5 1/4" 2' - 3" 3' - 2 3/4" 7' - 9 1/4" 4' - 10 1/4" 10' - 6 1/2" 4' - 10" 4' - 9 1/4"6' - 3" 15' - 6"

4'
 - 

5"
6'

 - 
7"

1'
 - 

11
"

6'
 - 

5 
5/

8"
6'

 - 
6 

3/
4"

2'
 - 

3 
5/

8"
5'

 - 
4 

1/
2"

5'
 - 

4 
1/

2"
D1

W1 W2 W3

W4

W5

W6

W7W8W9W10W11W12

9' - 2 3/4" 0' - 5" 9' - 0 3/4" 6' - 3 1/2"

D2

D3D4

D5

W13

W14

W15 W16 W17

W18

W19 W20 W21

W22

D6

D7D8

D9

D10

D11

D13
D14

D12

D15

D16

D17

D18

D20

D19

9
' -

 9
"

4
' -

 5
 1

/2
"

9
' -

 2
 1

/2
"

6
' -

 7
"

11' - 0 1/2" 6' - 6 1/2" 10' - 5"

6' - 11 1/2" 4' - 1"

2
' -

 1
0
 1

/2
"

7
' -

 2
 3

/4
"

8
' -

 9
 1

/4
"

11' - 0" 12' - 4 1/4" 12' - 7 3/4"

9
' -

 4
 1

/4
"

3
' -

 0
"

6
' -

 6
 1

/2
"

1
1
' -

 1
 1

/4
"

1 2 3 4 6

B

A

D

C

E

5

P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:0

6 
PM

11-5-21

TH

LO
S 

G
AT

O
S,

 C
A

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

A1.0

-

-

M
AI

N
 F

LO
O

R
 P

LA
N

PLT - WINDOW SCHEDULE

Mark Size Width Height
W1 36" x 60" 3' - 0" 5' - 0"
W2 36" x 60" 3' - 0" 5' - 0"
W3 36" x 60" 3' - 0" 5' - 0"
W4 36" x 60" 3' - 0" 5' - 0"
W5 36" x 60" 3' - 0" 5' - 0"
W6 36" x 48" 3' - 0" 4' - 0"
W7 24"x36" 2' - 0" 3' - 0"
W8 24"x36" 2' - 0" 3' - 0"
W9 32"x36" 2' - 8" 3' - 0"
W10 32"x36" 2' - 8" 3' - 0"
W11 36" x 48" 3' - 0" 4' - 0"
W12 24"x48" 2' - 0" 4' - 0"
W13 32"x60" 2' - 8" 5' - 0"
W14 60" x 72" 5' - 0" 6' - 0"
W15 66" x 72" 6' - 6" 6' - 0"
W16 66" x 72" 6' - 6" 6' - 0"
W17 66" x 72" 6' - 6" 6' - 0"
W18 60" x 72" 5' - 0" 6' - 0"
W19 48" x 72" 4' - 0" 6' - 0"
W20 60" x 72" 5' - 0" 6' - 0"
W21 48" x 72" 4' - 0" 6' - 0"
W22 60" x 72" 5' - 0" 6' - 0"
W26 60" x 60" 5' - 0" 5' - 0"
W27 48"x36" 4' - 0" 3' - 0"
W28 48"x36" 4' - 0" 3' - 0"

PLT - DOOR SCHEDULE

Mark Size and Type Width Height
D1 48" x 84" EXT 4' - 0" 7' - 0"
D2 36" x 84" 3' - 0" 7' - 0"
D3 72" x 80" 6' - 0" 6' - 8"
D4 72" x 80" 6' - 0" 6' - 8"
D5 36" x 84" 3' - 0" 7' - 0"
D6 36" x 84" 3' - 0" 7' - 0"
D7 32" x 84" 2' - 8" 7' - 0"
D8 32" x 84" 2' - 8" 7' - 0"
D9 32" x 84" 2' - 8" 7' - 0"
D10 32" x 84" 2' - 8" 7' - 0"
D11 30" x 84" 2' - 6" 7' - 0"
D12 72" x 84" TRACKED DOOR 3' - 0" 7' - 0"
D13 36" x 80" 3' - 0" 6' - 8"
D14 32" x 84" 2' - 8" 7' - 0"
D15 72" x 84" 6' - 0" 7' - 0"
D16 32" x 84" 2' - 8" 7' - 0"
D17 30" x 84" 2' - 6" 7' - 0"
D18 32" x 84" 2' - 8" 7' - 0"
D19 60" x 84" 5' - 0" 7' - 0"
D20 60" x 84" 5' - 0" 7' - 0"

3/16" = 1'-0"1 MAIN FLOOR PLAN

11/5/2021

STRUCTURAL ONLY



1

234

6

5

B AD CE

P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:1

1 
PM

11-5-21

TH

LO
S 

G
AT

O
S,

 C
A

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

A2.0

-

-

EL
EV

AT
IO

N
S 

#1

1/4" = 1'-0"1 FRONT ELEVATION

1/4" = 1'-0"2 LEFT ELEVATION

11/5/2021

STRUCTURAL ONLY



1

2 3 4

6

5

BA DC E

P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:1

5 
PM

11-5-21

TH

LO
S 

G
AT

O
S,

 C
A

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

A2.1

-

-

EL
EV

AT
IO

N
S 

#2

1/4" = 1'-0"1 OCEAN VIEW ELEVATION

1/4" = 1'-0"2 RIGHT ELEVATION

11/5/2021

STRUCTURAL ONLY



T
I
L

L
E

R
 
R

E
S

I
D

E
N

C
E

LO
S 

GA
TO

S,
 C

AL
IF

O
RN

IA

21-07-077

CHECKED BY:

DRAWN BY:

DATE:

REVISIONS

PROJ. #:

11/04/2021

▪
 
 
 
C

:
\
P

r
o
j
e
c
t
s
 
X

Y
Z

 
D

e
s
k
t
o
p
\
0
9
-
2
1
-
1
0
6
 
-
 
t
i
l
l
e
r
 
d
e
t
a
i
l
s
\
S

1
.
1
.
d
w

g
P

r
i
n
t
e
d
 
b
y
:
 
B

E
N

J
A

M
I
N

 
P

O
W

E
L
L

D
a
t
e
:
 
2
0
2
1
-
N

o
v
-
0
4
,
 
6
:
1
1
 
P

M

SHEET:

LG

BP

11
3 

W
ES

T 
M

AI
N

, S
U

IT
E 

B
M

IS
SO

U
LA

, M
T 

59
80

2
EC

LI
PS

E-
EN

G
IN

EE
R

IN
G

.C
O

M
(4

06
) 7

21
-5

73
3

G
E

N
E

A
R

L
 
N

O
T

E
S

S1.0

11/5/2021

STRUCTURAL ONLY



6' - 0" 14' - 0" 14' - 0" 11' - 0" 11' - 0" 12' - 6" 12' - 6"

28' - 0" 22' - 8" 25' - 0"

0'
 - 

4"
10

' -
 8

"
30

' -
 8

"
7'

 - 
8"

11
' -

 0
"

17
' -

 7
"

10
' -

 9
"

2'
 - 

4"
7'

 - 
8"

4'
 - 

0"

27' - 4" 12' - 4" 36' - 0"

9' - 9 15/32" 9' - 1 15/32" 9' - 1 3/32" 8' - 9 11/32"8' - 1 11/32"8' - 1 11/32"

S4.1
4

S1.1
3

S1.1
2

S4.1
3

3' - 3" 9' - 1 5/8" 8' - 11 3/8"

S1.1
4

S1.1
5

8" TYPICAL CONCRETE
FOUNDATION WALL w/
#4 @ 18" o.c. VERT.
AND #4 @ 12" o.c. HORIZ.

24"x10" CONTINUOUS
FOOTING w/ (3) - #4 CONT.
-TYP.

12" DIA. CONCRETE 
PIER AND 24" DIA. PIER
w/ (4) - #4 BARS VERT. 
AND (5) #3 TIES
- TYP.

3'-9" x 8'-3" x 12" FOOTING
w/  #4's BOTH WAYS @ 12" o.c.

8" CONCRETE
FOUNDATION WALL w/
#4 @ 18" o.c. VERT.
AND #4 @ 12" o.c. HORIZ.

4" CONCRETE SLAB w/ 6x6 W2.9 x W2.9
WWF - SHEETS ONLY OR #3 @ 18" 
EACH WAY ON 6" COMPACTED
3/4" MINUS CUSHIONED GRAVEL BASE

4" CONCRETE SLAB w/ 6x6 W2.9 x W2.9
WWF - SHEETS ONLY OR #3 @ 18" 
EACH WAY ON 6" COMPACTED
3/4" MINUS CUSHIONED GRAVEL BASE

4" CONCRETE SLAB w/ 6x6 W2.9 x W2.9
WWF - SHEETS ONLY OR #3 @ 18" 
EACH WAY ON 6" COMPACTED
3/4" MINUS CUSHIONED GRAVEL BASE

6x6 PT POST
OVER FOOTING
- TYP.

1 2 3 4 6

B

A

D

C

E

5

S4.1
1

S4.1
2

4
9
' -

 4
"

5' - 8" 28' - 0" 22' - 8" 25' - 0"

81' - 4"

8' - 8" 16' - 4"

0' - 4" 75' - 0" 0' - 4"

4
9
' -

 4
"

81' - 4"

1
1
' -

 0
"

1
4
' -

 8
"

2
5
' -

 8
"

F1.5

F1.5

F1.5

P8

P2.5 P2.5 P2.5 P2.5

P2

P3

BFG24 BFG24 BFG24
BFG24

BFG24 BFG24 BFG24

F2

F2

F2

F2

F2

F2

F2

F2

F2

F2

(3
)-

1 
3/

4"
x1

1 
7/

8"
 L

VL
's

 (F
LU

SH
)

O
R

 5
 1

/8
"x

12
" G

LM
B

HOLD
 D

OW
N

5/8
" L

 BOLT
 12

"

HOLD
 D

OW
N

5/8
" L

 BOLT
 12

"

HOLD
 D

OW
N

5/8
" L

 BOLT
 12

"

HOLD
 D

OW
N

5/8
" L

 BOLT
 12

"

HOLD
 D

OW
N

5/8
" L

 BOLT
 12

"

HOLD
 D

OW
N

5/8
" L

 BOLT
 12

"

HOLD DOW
N

5/8" L BOLT 12"

HOLD
 D

OW
N

5/8
" L

 BOLT
 12

"

HOLD DOW
N

5/8" L BOLT 12"

HOLD DOW
N

5/8" L BOLT 69"

HOLD DOW
N

5/8" L BOLT 69"

HOLD DOW
N

5/8" L BOLT 12"

HOLD DOW
N

5/8" L BOLT 12"

HOLD DOW
N

5/8" L BOLT 12"

HOLD DOW
N

5/8" L BOLT 12"

HOLD DOW
N

5/8" L BOLT 69"

HOLD DOW
N

5/8" L BOLT 69"

HOLD DOW
N

5/8" L BOLT 69"

HOLD DOW
N

5/8" L BOLT 69"

HOLD DOW
N

5/8" L BOLT 69"

HOLD DOW
N

5/8" L BOLT 12"

HOLD DOW
N

5/8" L BOLT 12"

4' - 0"

HOLD DOW
N

5/8" L BOLT 12"

HOLD DOW
N

5/8" L BOLT 12"

4' - 0"

HOLD
 D

OW
N

5/8
" L

 BOLT
 52

"

HOLD
 D

OW
N

5/8
" L

 BOLT
 52

"

HOLD
 D

OW
N

5/8
" L

 BOLT
 52

"

HOLD
 D

OW
N

5/8
" L

 BOLT
 52

"

HOLD
 D

OW
N

5/8
" L

 BOLT
 52

"

HOLD
 D

OW
N

5/8
" L

 BOLT
 52

"

HOLD DOW
N

5/8" L BOLT 69"

NOTE: REF. 7/S6.1 AND 8/S6.1 FOR HOLD DOWN DETAILS

P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:1

5 
PM

11-5-21

TH

LO
S 

G
AT

O
S,

 C
A

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

S1.0

-

-

FO
U

N
D

AT
IO

N
 P

LA
N

1/4" = 1'-0"1 FOUNDATION PLAN

FOOTING SCHEDULE

MARK Description REBAR REINFORCING
BFG24 BIG FOOT FTG PER DETAIL
F1.5 18" W x 10" DP (2) - #4 BARS CONTINUOUS
F2 24" W x 10" DP (3) - #4 BARS CONTINUOUS
P2 24" W x 10" DP (3) - #4 BARS EACH WAY
P2.5 30" W x 10" DP (3) - #4 BARS EACH WAY
P3 36"W x 10" DP (4) - #4 BARS EACH WAY
P8 MIN. 60" x 96" x 10" DP #4 BARS @ 12" o.c. EACH WAY

PLT TO PROVIDE LOG TO LOG CONNECTIONS ONLY, ALL 
OTHER CONNECTIONS AND HARDWARE SHOWN ON THESE 
PLANS TO BE PROVIDED BY OTHERS

11/5/2021

STRUCTURAL ONLY



WALL LOGS
(SEE WALL 
SHOPS FOR 
INFORMATION) 

5/8" Dia x 10" 
ANCHOR BOLT w/
AT & COUPLER @ 
48" o.c. MAX. 
SPACING & 
6" EMBED. 

CONT. FLASHING

4
' -

 1
0

 3
/8

"

GRADE

CONT. FOOTING - SEE PLAN 
FOR SIZE w/ (3) - #4 CONT. 

8" CONCRETE STEM WALL
w/ #4's @ 18" o.c. VERT. &
#4's @ 12" o.c. HORIZ. -CENTERED

11 7/8" I-JOIST - SEE PLAN
FOR INFORMATION

R-19 PERIMETER
INSULATION

T.O. SUB-FLOOR

11 7/8" LSL LEDGER w/(2) 1/2"x6" TITEN
HD CONC SCREWS PER 16", STAGGERED &
SIMPSON IUS2.06/11.88 HANGERS

3/4" PLYWD. SUB-FLOOR

FINISH FLOOR PER
OWNER - 3/4" T&G
SHOWN

GRID

CENTERLINE OF
LOG WALL, SILL PLATE
AND FOUNDATION WALL

2x8 P.T. SILL PLATE
w/ CONT. SILL SEAL

(2)-2x6 WALL PLATE
w/ CONT. SILL SEAL

5/8" Dia x 10" LAG 
- 5" MIN. - 4" EMBED. 

0
' -

 2
"

4" CONCRETE SLAB
w/ #4's @ 18" o.c. EACH 
WAY ON 6" COMPACTED
GRAVEL BASE 

C
LR

0
' -

 3
"

CLR

0' - 3"

#4 BAR w/ 30" VERT. LEG 
AND 6" HORZ. LEG

0
' -

 5
"

0
' -

 3
"

CONT. FOOTING - SEE PLAN 
FOR SIZE w/ (2) - #4 CONT. 
- 3" MIN. FROM OUTSIDE FACE

WALL LOGS
(SEE WALL 
SHOPS FOR 
INFORMATION) 5/8" Dia x 10" 

ANCHOR BOLT w/
AT & COUPLER @ 
48" o.c. MAX. 
SPACING & 
6" EMBED. 

CONT. FLASHING

4
' -

 1
0

 3
/8

"

GRADE

CONT. FOOTING - SEE PLAN 
FOR SIZE w/ (3) - #4 CONT. 

8" CONCRETE STEM WALL
w/ #4's @ 18" o.c. VERT. &
#4's @ 12" o.c. HORIZ. -CENTERED

11 7/8" I-JOIST - SEE PLAN
FOR INFORMATION

R-19 PERIMETER
INSULATION

T.O. SUB-FLOOR

3/4" PLYWD. SUB-FLOOR

FINISH FLOOR PER
OWNER - 3/4" T&G
SHOWN

GRID

CENTERLINE OF
LOG WALL, SILL PLATE
AND FOUNDATION WALL

2x8 P.T. SILL PLATE
w/ CONT. SILL SEAL

(2)-2x6 WALL PLATE
w/ CONT. SILL SEAL

5/8" Dia x 10" LAG 
- 4" EMBED. 

0
' -

 2
"

4" CONCRETE SLAB
w/ #3's @ 18" o.c. EACH 
WAY ON 6" COMPACTED
GRAVEL BASE 

CLR

0' - 3"

C
LR

0
' -

 3
"

#4 BAR w/ 30" VERT. LEG 
AND 6" HORZ. LEG

WALL LOGS
(SEE WALL 
SHOPS FOR 
INFORMATION) 

5/8" Dia x 10" ANCHOR 
BOLT w/
AT & COUPLER @ 32" o.c. 
MIN. SPACING & 
6" EMBED. 

3
' -

 1
0

 1
/2

"

CONT. FOOTING - SEE PLAN 
FOR SIZE w/ (3) - #4 CONT. 

8" CONCRETE STEM WALL
w/ #4's @ 18" o.c. VERT. &
#4's @ 12" o.c. HORIZ. -CENTERED

11 7/8" I-JOIST - SEE PLAN
FOR INFORMATION

R-19 PERIMETER
INSULATION

T.O. SUB-FLOOR

(3) CONT. 1 3/4"x11 7/8" TIMBERSTRAND 
LSL OR LVL

3/4" PLYWD. SUB-FLOOR

FINISH FLOOR PER
OWNER - 3/4" T&G
SHOWN

GRID

CENTERLINE OF
LOG WALL, SILL PLATE
AND FOUNDATION WALL

2x8 P.T. SILL PLATE
w/ CONT. SILL SEAL

5/8" Dia x 10" LAG @ 24" MAX.
- 4" EMBED. 

C
LR

0
' -

 3
"

CLR

0' - 3"

WALL LOGS
(SEE WALL 
SHOPS FOR 
INFORMATION) 

5/8" Dia x 10" ANCHOR BOLT w/
AT & COUPLER @ 32" o.c. MIN. 
SPACING & 
6" EMBED. 

3
' -

 1
0

 1
/2

"

11 7/8" I-JOIST - SEE PLAN
FOR INFORMATION

R-19 PERIMETER
INSULATION

T.O. SUB-FLOOR

3/4" PLYWD. SUB-FLOOR

FINISH FLOOR PER
OWNER - 3/4" T&G
SHOWN

GRID

CENTERLINE OF
LOG WALL, SILL PLATE
AND FOUNDATION WALL

2x8 P.T. SILL PLATE
w/ CONT. SILL SEAL

5/8" Dia x 10" LAG @ 24" MAX. 
- 4" EMBED. 

CONT. FOOTING - SEE PLAN 
FOR SIZE w/ (3) - #4 CONT. 

8" CONCRETE STEM WALL
w/ #4's @ 18" o.c. VERT. &
#4's @ 12" o.c. HORIZ. -CENTERED

(3) CONT. 1 3/4"x11 7/8" TIMBERSTRAND 
LSL OR LVL

C
LR

0
' -

 3
"

CLR

0' - 3"

P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:1

8 
PM

11-5-21

Author

LO
S 

G
AT

O
S,

 C
A

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

S1.1

Approver

-

FO
U

N
D

AT
IO

N
 P

LA
N

 -
3D

 V
IE

W

1 FOUNDATION 3d-VIEW

1" = 1'-0"2

ROUND LOG FOUNDATION TO
SUB-FLOOR - HALF PLATE - FLUSH TO
GRADE

1" = 1'-0"3

ROUND LOG FOUNDATION TO
SUB-FLOOR -FULL PLATE - FLUSH TO
GRADE

1" = 1'-0"4

ROUND LOG FOUNDATION TO
SUB-FLOOR - HALF PLATE -INTERIOR

1" = 1'-0"5

ROUND LOG FOUNDATION TO
SUB-FLOOR -FULL PLATE -INTERIOR

PLT TO PROVIDE LOG TO LOG CONNECTIONS ONLY, ALL 
OTHER CONNECTIONS AND HARDWARE SHOWN ON THESE 
PLANS TO BE PROVIDED BY OTHERS

11/5/2021

STRUCTURAL ONLY



14' - 0" 14' - 0" 11' - 0" 11' - 0" 12' - 6" 12' - 6"

28' - 0" 22' - 8" 25' - 0"

49
' -

 0
"

11
' -

 0
"

17
' -

 3
"

10
' -

 9
"

2'
 - 

0"
8'

 - 
0"

4'
 - 

0"

27' - 4" 12' - 4" 35' - 4"

6'
 - 

5 
1/

2"
9'

 - 
6 

3/
4"

1' - 2 5/8"

5 1/8"x12" GLMB -
TYPICAL

9' - 9 15/32" 9' - 1 15/32" 9' - 1 3/32"

5 1/8"x12" GLMB -
TYPICAL

8' - 9 11/32"8' - 1 11/32"8' - 1 11/32"

5 1/8"x12" GLMB -
TYPICAL

14
' -

 4
"

3' - 3" 9' - 1 5/8" 8' - 11 3/8"

11
 7

/8
"  

TJ
I 2

10
@

 1
'-4

" O
.C

. -
TY

P.

S1.1
3

S1.1
2

S4.1
3

S1.1
4

S1.1
5

11
 7

/8
"  

TR
U

SS
 

JO
IS

TS
 @

 1
'-4

" O
.C

.

11
 7

/8
"  

TR
U

SS
 

JO
IS

TS
 @

 1
'-4

" O
.C

.

1 2 3 4 6

B

A

D

C

E

5

4
9
' -

 0
"

75' - 0"

28' - 0" 22' - 0" 25' - 0"

9' - 0" 16' - 0"

1
1
' -

 0
"

3
0
' -

 0
"

8
' -

 0
"

1
4
' -

 0
"

1
6
' -

 0
"

1
4
' -

 0
"

1
6
' -

 0
"

1
1
' -

 8
"

1
4
' -

 0
"

2
5
' -

 8
"

TYP.
TYP.

TYP.

S4.1
1

11 7/8" LVL LEDGER
w/ (2) - 5/8" EPOXY
BOLTS @ 24" o.c. MAX.
(4) MIN. STAGGERED
3" MIN. FROM EDGE
OF CONCRETE

(3
)-

1 
3/

4"
x1

1 
7/

8"
 L

VL
's

 (F
LU

SH
)

O
R

 5
 1

/8
"x

12
" G

LM
B

1/2" SHTHG. ON 2x6
STUDS @ 16" o.c. w/8d NAILS
@ 6" o.c. AT PANEL EDGES
AND 12" o.c. IN FIELD

P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:1

8 
PM

11-5-21

Author

D
es

ig
ne

r

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

S1.2

Approver

-

M
AI

N
 F

LO
O

R
 F

R
AM

IN
G

 P
LA

N

1/4" = 1'-0"1 MAIN FLOOR FRAMING PLAN

11/5/2021

STRUCTURAL ONLY



1 2 3 4 6

B

A

D

C

E

5

2' - 0" 28' - 0" 11' - 0" 36' - 0" 2' - 0"

14' - 0" 14' - 0" 11' - 0" 12' - 6" 12' - 6"

3' - 0" 75' - 0" 3' - 0"

2
' -

 0
"

5
3
' -

 0
"

3
' -

 0
"

1
1
' -

 0
"

3
0
' -

 0
"

8
' -

 0
"

5
' -

 0
"

5
' -

 0
"

5
' -

 0
"

5
' -

 0
"

5
' -

 0
"

5
' -

 0
"

1
' -

 1
1
"

6
' -

 5
 5

/8
"

2
1
' -

 7
 3

/8
"

3' - 0" 75' - 0" 3' - 0"

28' - 0" 22' - 0" 25' - 0"

1' - 11" 8' - 0" 8' - 0" 8' - 0" 2' - 1" 11' - 0" 11' - 0" 9' - 0" 16' - 0"

2' - 0"

0
' -

 6
"

4
' -

 0
"

4
' -

 0
"

4
' -

 0
"

TRUSS TR3

TRUSS TR2

TRUSS TR1

2
' -

 0
"

5
3
' -

 0
"

3
' -

 0
"

1
1
' -

 0
"

3
0
' -

 0
"

8
' -

 0
"

5
' -

 0
"

5
' -

 0
"

5
' -

 0
"

5
' -

 0
"

5
' -

 0
"

5
' -

 0
"

3
' -

 0
"

4
' -

 6
"

4
' -

 0
"

1
6
' -

 6
"

2' - 0" 5' - 6" 5' - 6" 2' - 0"

5' - 10 1/2" 5' - 10 1/2"

LR
W

P-
3

10
"

PP
R

-3
10

"

PP
R

-4
10

"

LR
SW

P-
2

10
"

LR
SW

P-
3

10
"

LR
SR

P-
1

10
"

KR
P-

1
10

"

PR
P-

1
10

"

LLR-5
10"

LRR-6
10"

R-7
8"

R-1
8"

R-2
8"

R-3
8"

R-4
8"

R-8
8"

R-6
8"

R-5
8"

LRR-3
10"

LRR-4
10"

LRR-1
10"

LRR-2
10"

PPR-1
10"

WWP-4
10"

PT
L-

1
10

"

SSTB-PR1
10"

STB-PR2
10"

STB-RP1
10"

STB-PR3
10"

STB-PR4
10"

WWP-1
10"

CP-1
10"

CP-2
10"

EP
TL

-1
10

"

PT
L-

4
10

"

PPR2
10"

STB-PR5
10"

STB-PR6
10"

STB-RP2
10"

STB-PR7
10"

STB-PR8
10"

P-1
14"

P-2
14"

P-3
14"

P-4
14"

P-5
14"

P-6
14"

FWP-1
3 1/2"x11 1/4"

FWP-2
3 1/2"x11 1/4"

EPPR-1
10"

WWP-2
10"

PP-1
12"

PP-2
12"

PP-3
12"

PPR-1
10"

PP-4
12"

PP-5
12"

PP-6
12"

PP-7
12"

EPP-1
12"

PT
L-

2
10

"

PT
L-

3
10

"

PK
B-

1
8"

PK
B-

2
8"

TMP-1
5 1/2"x7 1/4"

KW
P-

1
10

"

KW
P-

2
10

"

KW
P-

3
10

"

KW
P-

4
10

"

KW
P-

5
10

"
KW

P-
6

10
"

LR
W

P-
1

10
"

LR
W

P-
4

10
"

LR
W

P-
2

10
"

LR
R

P-
1

10
"

11
 7

/8
"  

TR
U

SS
 

JO
IS

TS
 @

 2
'-0

" O
.C

.

M
AN

U
FA

C
TU

R
ED

   
TR

U
SS

 @
 2

'-0
" O

.C
.

M
AN

U
FA

C
TU

R
ED

   
TR

U
SS

 @
 2

'-0
" O

.C
.

M
AN

U
FA

C
TU

R
ED

   
TR

U
SS

 @
 2

'-0
" O

.C
.

2x6 LADDER FRAME 
- TYPICAL

2x
6 

LA
D

D
ER

 F
R

AM
E 

-T
YP

IC
AL

M
AN

U
FA

C
TU

R
ED

   
TR

U
SS

 @
 2

'-0
" O

.C
.

2x
6 

R
AF

TE
R

S
@

 2
'-0

" O
.C

.

MANUFACTURED   
TRUSS @ 2'-0" O.C.

MANUFACTURED   
TRUSS @ 2'-0" O.C.

M
AN

U
FA

C
TU

R
ED

   
TR

U
SS

 @
 2

'-0
" O

.C
.

RB-1
4x12

RB-2
4x12

RBH-1
4x12

S4.2
1

S4.2
2

S4.2
4

S4.2
3

S4.2
5

S4.2
6

S4.2
7

S4.2
8

S4.2
9

S4.2
10S4.2

11

S4.0
12

R
TL

-1
10

"

OVERFRAME
AREA

OVERFRAME
AREA

2

S6.1

2

S6.1

MIN. (1) 10" DIA. LOG HDR.

2

S6.1

MIN. (2) 10" DIA. LOG HDR.MIN. (3) 10" DIA. LOG HDR.
(3) - SPAN

NOTE:
MIN. (1) 10" DIA. LOG HDR. UNLESS NOTED OTHERWISE

M
IN

. (
3)

 1
0"

 D
IA

. L
O

G
 H

D
R

.
KW

P-
6A

10
"

EXTERIOR STUB LOG RIDGE PURLIN
BACK-SPAN TO MFGR TRUSS
- SEE DET 4/S4.2 FOR CONNECTION
TO OUTLOOKER FRAMING

6

S6.1

1

S6.1

4

S6.1

5

S6.1

P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:2

0 
PM

11-5-21

TH

LO
S 

G
AT

O
S,

 C
A

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

S1.3

-

-

R
O

O
F 

FR
AM

IN
G

 P
LA

N

1/4" = 1'-0"1 ROOF FRAMING PLAN

QTY. ITEM DETAIL

PLT - FRAME HARDWARE

24 5/8" x 12" LAG SCREWS  
w/ WASHERS

2/S4.2

14

4

3

5/8" x 12" LAG SCREWS  
w/ WASHERS

5/S4.2 & 6/S4.2

5/8" x 12" LAG SCREWS  
w/ WASHERS

10/S4.2

5/8" x 12" LAG SCREWS  
w/ WASHERS

11/S4.2

PLT TO PROVIDE LOG TO LOG CONNECTIONS ONLY, ALL 
OTHER CONNECTIONS AND HARDWARE SHOWN ON THESE 
PLANS TO BE PROVIDED BY OTHERS

11/5/2021

STRUCTURAL ONLY



P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:2

4 
PM

11-5-21

TH

LO
S 

G
AT

O
S,

 C
A

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

S1.4

-

-

LO
G

 F
R

AM
E 

SC
H

ED
U

LE
S

PLT - BEAM SCHEDULE

MARK SIZE
LENGTH
IN FEET SPECIES GRADE FINISH NOTES

EPPR-1 10" 11 WW SEL&BTR HP
EPTL-1 10" 13 WW SEL&BTR HP
KRP-1 10" 7 WW SEL&BTR HP MATERIAL ONLY
KWP-1 10" 17 WW SEL&BTR HP
KWP-2 10" 17 WW SEL&BTR HP
KWP-3 10" 18 WW SEL&BTR HP
KWP-4 10" 18 WW SEL&BTR HP
KWP-5 10" 19 WW SEL&BTR HP
KWP-6 10" 18 WW SEL&BTR HP
KWP-6A 10" 18 WW SEL&BTR HP
LLR-5 10" 15 WW SEL&BTR HP
LRR-1 10" 15 WW SEL&BTR HP
LRR-2 10" 15 WW SEL&BTR HP
LRR-3 10" 11 WW SEL&BTR HP
LRR-4 10" 15 WW SEL&BTR HP
LRR-6 10" 15 WW SEL&BTR HP
LRRP-1 10" 25 WW SEL&BTR HP
LRSRP-1 10" 8 WW SEL&BTR HP MATERIAL ONLY
LRSWP-2 10" 3 WW SEL&BTR HP MATERIAL ONLY
LRSWP-3 10" 3 WW SEL&BTR HP MATERIAL ONLY
LRWP-1 10" 28 WW SEL&BTR HP
LRWP-2 10" 27 WW SEL&BTR HP
LRWP-3 10" 28 WW SEL&BTR HP
LRWP-4 10" 27 WW SEL&BTR HP
PKB-1 8" 6 WW SEL&BTR HP
PKB-2 8" 6 WW SEL&BTR HP
PPR2 10" 38 WW SEL&BTR HP
PPR-1 10" 30 WW SEL&BTR HP
PPR-3 10" 14 WW SEL&BTR HP
PPR-4 10" 14 WW SEL&BTR HP
PRP-1 10" 15 WW SEL&BTR HP
PTL-1 10" 9 WW SEL&BTR HP
PTL-2 10" 8 WW SEL&BTR HP
PTL-3 10" 8 WW SEL&BTR HP
PTL-4 10" 9 WW SEL&BTR HP
R-1 8" 10 WW SEL&BTR HP
R-2 8" 10 WW SEL&BTR HP
R-3 8" 10 WW SEL&BTR HP
R-4 8" 10 WW SEL&BTR HP
R-5 8" 10 WW SEL&BTR HP
R-6 8" 10 WW SEL&BTR HP
R-7 8" 10 WW SEL&BTR HP
R-8 8" 10 WW SEL&BTR HP
RBH-1 4x12 8 WW SEL&BTR RS / WIREBRUSH FULL DIMENSION - MATERIAL ONLY
RTL-1 10" 8 WW SEL&BTR HP
SSTB-PR1 10" 6 WW SEL&BTR HP MATERIAL ONLY
STB-PR2 10" 6 WW SEL&BTR HP MATERIAL ONLY
STB-PR3 10" 6 WW SEL&BTR HP MATERIAL ONLY
STB-PR4 10" 6 WW SEL&BTR HP MATERIAL ONLY
STB-PR5 10" 6 WW SEL&BTR HP MATERIAL ONLY
STB-PR6 10" 6 WW SEL&BTR HP MATERIAL ONLY
STB-PR7 10" 6 WW SEL&BTR HP MATERIAL ONLY
STB-PR8 10" 6 WW SEL&BTR HP MATERIAL ONLY
STB-RP1 10" 6 WW SEL&BTR HP MATERIAL ONLY
STB-RP2 10" 6 WW SEL&BTR HP MATERIAL ONLY
TC1-WB2 10" 5 WW SEL&BTR HP
TR3-BC1 10" 15 WW SEL&BTR HP
WWP-1 10" 33 WW SEL&BTR HP
WWP-2 10" 30 WW SEL&BTR HP
WWP-3 10" 28 WW SEL&BTR HP
WWP-4 10" 31 WW SEL&BTR HP
Grand total: 61

PLT - POST SCHEDULE

MARK SIZE
LENGTH IN

FEET SPECIES GRADE FINISH NOTES
BFG24 BFG24 3
CP-1 10" 9 WW WALL LOG 40 HP MATERIAL ONLY - CORNER POST
CP-2 10" 9 WW WALL LOG 40 HP MATERIAL ONLY - CORNER POST
EPP-1 12" 9 WW WALL LOG 40 HP
FWP-1 3 1/2"x11 1/4" 9 WW WALL LOG 40 RS
FWP-2 3 1/2"x11 1/4" 10 WW WALL LOG 40 RS
P-1 14" 7 WW WALL LOG 40 HP
P-2 14" 7 WW WALL LOG 40 HP
P-3 14" 7 WW WALL LOG 40 HP
P-4 14" 7 WW WALL LOG 40 HP
P-5 14" 7 WW WALL LOG 40 HP
P-6 14" 7 WW WALL LOG 40 HP
PP-1 12" 9 WW WALL LOG 40 HP
PP-2 12" 9 WW WALL LOG 40 HP
PP-3 12" 10 WW WALL LOG 40 HP
PP-4 12" 10 WW WALL LOG 40 HP
PP-5 12" 9 WW WALL LOG 40 HP
PP-6 12" 9 WW WALL LOG 40 HP
PP-7 12" 9 WW WALL LOG 40 HP
RB-1 4x12 7 WW WALL LOG 40 RS/WIREBRUSH FULL DIMENSION -MATERIAL ONLY
RB-2 4x12 7 WW WALL LOG 40 RS/WIREBRUSH FULL DIMENSION -MATERIAL ONLY
TMP-1 5 1/2"x7 1/4" 3 WW WALL LOG 40 RS
TR3-KP1 8" 4 WW WALL LOG 40 HP
Grand total: 23

1 LOG WALL AND ROOF 3D VIEW

11/5/2021

STRUCTURAL ONLY



0'
 - 

10
"

30' - 8" 7' - 8"

3' - 0" 30' - 0" 8' - 0" 2' - 0"

15' - 0" 15' - 0"

6" / 1
'-0"

3" / 1'-0"

MAIN FLOOR 
CONSTRUCTION:
1 1/8" SUB-FLOOR OVER
14" OPEN WEB FLOOR 
JOISTS @ 1'-4" O.C.

8" TYPICAL CONCRETE
FOUNDATION WALL OVER
24"x10" CONTINUOUS
FOOTING

4" CONCRETE SLAB w/ 6x6 W2.9 x W2.9
WWF - SHEETS ONLY OR #3 @ 18" 
EACH WAY ON 6" COMPACTED
3/4" MINUS CUSHIONED GRAVEL BASE

ROOF CONSTRUCTION:
ROOF FINISH OVER
5/8" SHEATHING OVER
MANUFACTURED TRUSS 
RAFTERS @ 24" O.C.

ROOF CONSTRUCTION:
ROOF FINISH OVER
5/8" SHEATHING OVER
MANUFACTURED TRUSS 
RAFTERS @ 24" O.C.

BEDROOM #1SUNROOM

WALL CONSTRUCTION:
10" DIA. LOG STACK
w/ COPED CORNERS

4'
 - 

10
 3

/8
"

POST BASE BRACKET
- SUPPLIED AND INSTALLED
BY OTHERS - SEE DET.
- TYP.

B AD C

0
' -

 2
"

8' - 0" 30' - 0" 11' - 0"

2' - 0" 49' - 0" 2' - 0"

0'
 - 

10
"

0'
 - 

2"

MAIN FLOOR 
CONSTRUCTION:
1 1/8" SUB-FLOOR OVER
14" OPEN WEB FLOOR 
JOISTS @ 1'-4" O.C.

8" TYPICAL CONCRETE
FOUNDATION WALL OVER
24"x10" CONTINUOUS
FOOTING

4" CONCRETE SLAB w/ 6x6 W2.9 x W2.9
WWF - SHEETS ONLY OR #3 @ 18" 
EACH WAY ON 6" COMPACTED
3/4" MINUS CUSHIONED GRAVEL BASE

ROOF CONSTRUCTION:
ROOF FINISH OVER
5/8" SHEATHING OVER
MANUFACTURED TRUSS 
RAFTERS @ 24" O.C.

ROOF CONSTRUCTION:
ROOF FINISH OVER
5/8" SHEATHING OVER
MANUFACTURED TRUSS 
RAFTERS @ 24" O.C.

KITCHEN ENTRY

WALL CONSTRUCTION:
10" DIA. LOG STACK
w/ COPED CORNERS

2" / 1'-0"

6" / 1'-0"

3" / 1'-0"

ROOF CONSTRUCTION:
ROOF FINISH OVER
5/8" SHEATHING OVER
MANUFACTURED TRUSS 
RAFTERS @ 24" O.C.

4'
 - 

10
 3

/8
"

POST BASE BRACKET
- SUPPLIED AND INSTALLED
BY OTHERS - SEE DET.
- TYP.

BA DC E

0'
 - 

10
"

8' - 0" 30' - 0"

2' - 0" 38' - 0" 3' - 0"

15' - 0" 15' - 0"

MAIN FLOOR 
CONSTRUCTION:
1 1/8" SUB-FLOOR OVER
14" OPEN WEB FLOOR 
JOISTS @ 1'-4" O.C.

8" TYPICAL CONCRETE
FOUNDATION WALL OVER
24"x10" CONTINUOUS
FOOTING

4" CONCRETE SLAB w/ 6x6 W2.9 x W2.9
WWF - SHEETS ONLY OR #3 @ 18" 
EACH WAY ON 6" COMPACTED
3/4" MINUS CUSHIONED GRAVEL BASE

ROOF CONSTRUCTION:
ROOF FINISH OVER
5/8" SHEATHING OVER
MANUFACTURED TRUSS 
RAFTERS @ 24" O.C.

ROOF CONSTRUCTION:
ROOF FINISH OVER
5/8" SHEATHING OVER
MANUFACTURED TRUSS 
RAFTERS @ 24" O.C.

MSTR BATH

WALL CONSTRUCTION:
10" DIA. LOG STACK
w/ COPED CORNERS

MASTER
BEDROOM

3" / 1'-0"

6" / 1
'-0"

4'
 - 

10
 3

/8
"

POST BASE BRACKET
- SUPPLIED AND INSTALLED
BY OTHERS - SEE DET.
- TYP.

BA DC E
2' - 0" 31' - 0" 3' - 0"

22' - 0"9' - 0"

11' - 0"11' - 0"

0'
 - 

10
"

MAIN FLOOR 
CONSTRUCTION:
1 1/8" SUB-FLOOR OVER
14" OPEN WEB FLOOR 
JOISTS @ 1'-4" O.C.

8" TYPICAL CONCRETE
FOUNDATION WALL OVER
24"x10" CONTINUOUS
FOOTING

4" CONCRETE SLAB w/ 6x6 W2.9 x W2.9
WWF - SHEETS ONLY OR #3 @ 18" 
EACH WAY ON 6" COMPACTED
3/4" MINUS CUSHIONED GRAVEL BASE

ROOF CONSTRUCTION:
ROOF FINISH OVER
5/8" SHEATHING OVER
MANUFACTURED TRUSS 
RAFTERS @ 24" O.C.

LIVING 
ROOM

WALL CONSTRUCTION:
10" DIA. LOG STACK
w/ COPED CORNERS

ROOF CONSTRUCTION:
ROOF FINISH OVER
5/8" SHEATHING OVER
11 7/8" TRUSS JOIST 
RAFTERS @ 24" O.C.
OVER 2x6 T&G DECKING

TRUSS TR1

4'
 - 

10
 3

/8
"

5'
 - 

9 
1/

8"
0'

 - 
8"

3' - 0" 0' - 8"

2x6 LADDER FRAMED
GABLE SOFFIT - THIS
WALL ONLY

8" / 1
'-0"

POST BASE BRACKET
- SUPPLIED AND INSTALLED
BY OTHERS - SEE DET.
- TYP.

2345

4' - 3"

CRICKET BY OTHERS
AS REQUIRED

10" DIA - WW
SELECT LOG

P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:2

8 
PM

11-5-21

TH

LO
S 

G
AT

O
S,

 C
A

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

S2.0

-

-

SE
C

TI
O

N
S 

#1

1/4" = 1'-0"1 SECTION THRU BEDROOM / SUNROOM
1/4" = 1'-0"2 SECTION THRU ENTRY / KITCHEN

1/4" = 1'-0"3 SECTION THRU MASTER BEDROOM
1/4" = 1'-0"4 SECTION THRU LIVING ROOM

11/5/2021

STRUCTURAL ONLY



MAIN FLOOR 
CONSTRUCTION:
1 1/8" SUB-FLOOR OVER
14" OPEN WEB FLOOR 
JOISTS @ 1'-4" O.C.

8" TYPICAL CONCRETE
FOUNDATION WALL OVER
24"x10" CONTINUOUS
FOOTING

ROOF CONSTRUCTION:
ROOF FINISH OVER
5/8" SHEATHING OVER
MANUFACTURED TRUSS 
RAFTERS @ 24" O.C.

LIVING 
ROOM

WALL CONSTRUCTION:
10" DIA. LOG STACK
w/ COPED CORNERS

ROOF CONSTRUCTION:
ROOF FINISH OVER
5/8" SHEATHING OVER
11 7/8" TRUSS JOIST 
RAFTERS @ 24" O.C.
OVER 2x6 T&G DECKING

TRUSS TR2

4'
 - 

10
 3

/8
"

3' - 0" 75' - 0" 3' - 0"

28' - 0" 22' - 0" 25' - 0"

SUN 
ROOM

MASTER 
BEDROOM

ENTRY

3'
 - 

11
 1

/4
"

8" / 1'-0"

2" / 1'-0"

1

2 3 4

6

5

4' - 3"

1
' -

 6
 3

/4
"

1
' -

 6
 3

/4
"

2' - 0" 11' - 0" 2' - 0"

5' - 6" 5' - 6"

10
' -

 4
" +

/-
0'

 - 
10

"

4" CONCRETE SLAB w/ 6x6 W2.9 x W2.9
WWF - SHEETS ONLY OR #3 @ 18" 
EACH WAY ON 6" COMPACTED
3/4" MINUS CUSHIONED GRAVEL BASE

ROOF CONSTRUCTION:
ROOF FINISH OVER
5/8" SHEATHING OVER
2x6 RAFTERS @ 24" 
o.c. OVER 2x6 DECKING 
OVER LOG ROOF  
FRAME

TRUSS TR3

POST BASE BRACKET
- SUPPLIED AND INSTALLED
BY OTHERS - SEE DET.
- TYP.

23

SEE 1/S3.1 FOR CONNECTIONS

POST BASE BRACKET
- SUPPLIED AND INSTALLED
BY OTHERS - SEE DET.
- TYP.

8' - 0" 6' - 0"

14' - 0"

1' - 6" 8' - 0" 4' - 0" 0' - 6"

4' - 0" 2' - 0"

0'
 - 

10
"

9'
 - 

0 
3/

16
" +

/-

TR
U

SS
 T

R
3

ROOF CONSTRUCTION:
ROOF FINISH OVER
5/8" SHEATHING OVER
2x6 RAFTERS @ 24" 
o.c. OVER 2x6 DECKING 
OVER LOG ROOF 
FRAME

WALL CONSTRUCTION:
10" DIA. LOG STACK
w/ COPED CORNERS

WALL CONSTRUCTION:
EXTERIOR FINISH OVER
1/2" OSB PLYWD OVER
2x6 STUDS @ 16" o.c. 
OVER INTERIOR FINISH

4" CONCRETE SLAB w/ 6x6 W2.9 x W2.9
WWF - SHEETS ONLY OR #3 @ 18" 
EACH WAY ON 6" COMPACTED
3/4" MINUS CUSHIONED GRAVEL BASE

B A

SEE 2/S3.1 FOR CONNECTIONS

D

FULL HEIGHT STUD -
TOP OF CHIMNEY TO TOP OF 
CONCRETE HEARTH SLAB -
TYP.

(2) - 2x10 
HEADER

P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:3

1 
PM

11-5-21

TH

LO
S 

G
AT

O
S,

 C
A

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

S2.1

-

-

SE
C

TI
O

N
S 

#2

1/4" = 1'-0"1 LONGITUDINAL SECTION THRU HOUSE

1/4" = 1'-0"2 SECTION THRU PATIO

1/4" = 1'-0"3 LONGITUDINAL SECTION THRU PATIO
1/4" = 1'-0"4 FIREPLACE VIEW

11/5/2021

STRUCTURAL ONLY



0' - 2" 22' - 0" 0' - 2"

11' - 0" 11' - 0"

4' - 2 3/32" 3' - 9 23/32" 3' - 0 3/16" 3' - 0 3/16" 3' - 9 23/32" 4' - 2 3/32"

7'
 - 

8 
5/

16
"

8" / 1'-0"

2'
 - 

0 
1/

8"
2'

 - 
6 

15
/3

2"
2'

 - 
7"

0'
 - 

4 
5/

16
"

1" DIA. (A36) x 24" 
AND 1" DIA. x 36" 
AT - TYP.

5/8" x 12" LAG 
SCREW - 4" EMBED.
-TYP.

(2)-5/8" x 12" LAG 
SCREWS - 4" EMBED.
-TYP.

(2)-5/8" x12" LAGS 
AND 1 1/2" STD 
PIPE (1.9" o.d.) x 18"
- TYP.

5/8" x 12" LAG 
SCREWS - 4" EMBED.
- AS SHOWN - TYP.

3/4" DIA. (A36) x 28" 
AT - TYP.

2 3 4

LRWP-3
10"

LRWP-1
10"

LRWP-2
10" LRWP-4

10"

LRRP-1
10"

TR1-BC1
10"

TR1-WB110"
TC1-W

B2

10
"TR1-TC1

12"

TR1-TC212"

TR
1-

KP
1

10
"

5/8" x 12" LAG 
SCREW - 4" EMBED.
-TYP.

(2)-5/8" x 12" LAG 
SCREWS - 4" EMBED.
-TYP.

5/8" x 12" LAG 
SCREWS - 4" EMBED.
- AS SHOWN - TYP.

3/4" DIA. (A36) x 28" 
AT - TYP.

4' - 2 3/32"3' - 9 23/32"3' - 0 3/16"3' - 0 3/16"3' - 9 23/32"4' - 2 3/32"

11' - 0"11' - 0"

22' - 0"

0'
 - 

6 
23

/3
2"

2'
 - 

0 
1/

8"
2'

 - 
6 

15
/3

2"
2'

 - 
7"

0'
 - 

4 
5/

16
"

7'
 - 

8 
5/

16
"

2 3 4

LRWP-3
10"

LRWP-1
10"

LRWP-2
10"

LRWP-4
10"

LRRP-1
10"

TR
2-

KP
1

10
"

TR2-BC1
10"

TR2-WB110"
TR2-W

B2

10
"TR2-TC1

12"

TR2-TC212"

8" / 1'-0"

1" DIA. (A36) x 24" 
AND 1" DIA. x 36" 
AT - TYP.

(2)-5/8" x12" LAGS 
AND 1 1/2" STD 
PIPE (1.9" o.d.) x 18"
- TYP.

P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:3

4 
PM

11-5-21

TH

LO
S 

G
AT

O
S,

 C
A

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

S3.0

-

-

TR
U

SS
 E

LE
VA

TI
O

N
S 

#1

1/2" = 1'-0"1 TRUSS TR1 ELEVATION

PLT - PATIO TRUSS1 BEAM SCHEDULE

MARK SIZE
LENGTH
IN FEET SPECIES GRADE FINISH NOTES

TR1-BC1 10" 17 WW SEL&BTR HP
TR1-WB1 10" 5 WW SEL&BTR HP
TR1-TC1 12" 15 DF SEL&BTR HP
TR1-TC2 12" 15 DF SEL&BTR HP
Grand total: 4

PLT - PATIO TRUSS1 POST SCHEDULE

MARK SIZE
LENGTH IN

FEET SPECIES GRADE FINISH NOTES
TR1-KP1 10" 4 WW WALL LOG 40 HP
Grand total: 1

QTY. ITEM DETAIL

PLT - TRUSS TR1 HARDWARE

1/2" = 1'-0"2 TRUSS TR2 ELEVATION

QTY. ITEM DETAIL

PLT - TRUSS TR2 HARDWARE

PLT - PATIO TRUSS2 BEAM SCHEDULE

MARK SIZE
LENGTH
IN FEET SPECIES GRADE FINISH NOTES

TR2-BC1 10" 17 WW SEL&BTR HP
TR2-WB1 10" 5 WW SEL&BTR HP
TR2-WB2 10" 5 WW SEL&BTR HP
TR2-TC1 12" 15 DF SEL&BTR HP
TR2-TC2 12" 15 DF SEL&BTR HP
Grand total: 5

PLT - PATIO TRUSS2 POST SCHEDULE

MARK SIZE
LENGTH IN

FEET SPECIES GRADE FINISH NOTES
TR2-KP1 10" 4 WW WALL LOG 40 HP
Grand total: 1

-

-

18 5/8" x 12" LAG SCREWS  
w/ WASHERS

-

1 1" x 24" AT w/ DOUBLE 
NUTS & WASHERS

-

1 3/4" x 28" AT w/ DOUBLE 
NUTS & WASHERS

-

BOTTOM SCRIBED TO TOP CHORD

-

-

-

PLT TO PROVIDE LOG TO LOG CONNECTIONS ONLY, ALL 
OTHER CONNECTIONS AND HARDWARE SHOWN ON THESE 
PLANS TO BE PROVIDED BY OTHERS

PLT TO PROVIDE LOG TO LOG CONNECTIONS ONLY, ALL 
OTHER CONNECTIONS AND HARDWARE SHOWN ON THESE 
PLANS TO BE PROVIDED BY OTHERS

1 1" x 36" AT w/ DOUBLE 
NUTS & WASHERS

-

2 1 1/2" STD STL PIPE (1.9" 
o.d.) x 18"

-

18 5/8" x 12" LAG SCREWS  
w/ WASHERS

1 1" x 24" AT w/ DOUBLE 
NUTS & WASHERS

1 3/4" x 28" AT w/ DOUBLE 
NUTS & WASHERS

1 1" x 36" AT w/ DOUBLE 
NUTS & WASHERS

2 1 1/2" STD STL PIPE (1.9" 
o.d.) x 18"

11/5/2021

STRUCTURAL ONLY



2' - 0"11' - 0"2' - 0"

5' - 6"5' - 6"

8" / 1
'-0"

3'
 - 

3"
0'

 - 
5"

3'
 - 

8"
0'

 - 
4 

3/
32

"

0'
 - 

4 
3/

32
"

POST BASE BRACKET
- SUPPLIED AND INSTALLED
BY OTHERS - SEE DET. 12/S4.2
- TYP.

(2)-5/8" x 12" LAG 
SCREWS - 4" EMBED.
-TYP.

5/8" x 12" LAG 
SCREWS - 4" EMBED.
- AS SHOWN - TYP.

5/8" x 12" LAG 
SCREWS - 4" EMBED.
- AS SHOWN - TYP.

23

PP
-3

12
"

PPR-3
10"

PP
-4

12
"

PPR-4
10"

TR3-BC1
10"

PK
B-

1
8"

PK
B-

2
8"

PRP-1
10"

TR
3-

KP
1

8" R-38"
R-4

8"

3/4" DIA. x 20" AT
w/  DOWEL NUT 
AND 3" WASHERS 
- TYP.

14' - 0"

1' - 6" 8' - 0" 4' - 0" 0' - 6"

8' - 0" 4' - 0" 2' - 0"

4'
 - 

6"

4' - 6"

6' 
- 4

 3/
8"

TR
U

SS
 T

R
3

5/8" x 12" LAG 
SCREWS - 4" EMBED.
- AS SHOWN - TYP.

POST BASE BRACKET
- SUPPLIED AND INSTALLED
BY OTHERS - SEE DET. 12/S4.2
- TYP.

WALL CONSTRUCTION:
10" DIA. LOG STACK
w/ COPED CORNERS

5/8" x 12" LAG 
SCREWS - 4" EMBED.
- AS SHOWN - TYP.

5/8" x 12" LAG 
SCREWS - 4" EMBED.
- AS SHOWN - TYP.

B A

PP
-3

12
"

PPR-3
10"

PKB-1
8"

WWP-4
10"

PPR-1
10"

PRP-1
10"

?
?
?
??

PTL-2
10"

R
-7 8" R
-1 8" R
-2 8"R
-3 8" R
-4 8"R
-8 8" R
-6 8"R
-5 8"

TM
P-

1
5 

1/
2"

x7
 1

/4
"

1" DIA. (A36) x 18" 
AT - TYP.

P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:3

7 
PM

11-5-21

TH

LO
S 

G
AT

O
S,

 C
A

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

S3.1

-

-

TR
U

SS
 E

LE
VA

TI
O

N
S 

#2

QTY. ITEM DETAIL

PLT - TRUSS TR3 HARDWARE

1/2" = 1'-0"1 TRUSS TR3 ELEVATION

1/2" = 1'-0"2 TRUSS TR3 LONGITUDINAL ELEVATION

PLT - PATIO TRUSS3 BEAM SCHEDULE

MARK SIZE
LENGTH
IN FEET SPECIES GRADE FINISH NOTES

TR3-BC1 10" 15 WW SEL&BTR HP
Grand total: 1

PLT - PATIO TRUSS3 POST SCHEDULE

MARK SIZE
LENGTH IN

FEET SPECIES GRADE FINISH NOTES
TR3-KP1 8" 4 WW WALL LOG 40 HP
Grand total: 1

6 5/8" x 12" LAG SCREWS  
w/ WASHERS

-

QTY. ITEM DETAIL

PLT - REAR COVERED PATIO FRAME HARDWARE

24 5/8" x 12" LAG SCREWS  
w/ WASHERS

-

PLT TO PROVIDE LOG TO LOG CONNECTIONS ONLY, ALL 
OTHER CONNECTIONS AND HARDWARE SHOWN ON THESE 
PLANS TO BE PROVIDED BY OTHERS

4 1" x 18" AT w/ DBL NUTS 
& WASHERS

-

11/5/2021

STRUCTURAL ONLY



2x STUD w/ 3/8" Dia. x 6" LAG 
EVERY 3rd COURSE (SUPPLIED & 
INSTALLED BY G.C.)

GYP. BOARD EDGE

FRAME WALL

FRAME WALL

CAULKINGLOG WALL

LOG WALL

ATTACH 2x STUDS TO THE FACE OF THE 
LOG WALL STACK (SHIM AS 
NECESSARY) w/ 3/8" Dia. x 6" LAG EVERY 
3rd COURSE INTO SLOTTED HOLE (SLOT 
LENGTH = 1/4" PER VERTICAL FOOT)

NOTE:  INSERT GYP. WALL 
BOAD DEEP ENOUGH SO 
THAT CHINK LINE WILL 
COVER EDGE OF G.W.B.

LOG WALL CORNER LOG WALL INTERSECTION

LOG WALL OPENING

TY
P.

0
' -

 6
"

3/8" DIA. CORNER 
SPIKES AT CORNERS

7/8" O.D. 
GALVANIZED PIPE

S
PA

C
IN

G

S
C

H
ED

U
LE

D

SPACING

SCHEDULED

TYP.
0' - 6"

3/8" DIA. 
SPIKES AT 
CORNERS

7/8" O.D. 
GALVANIZED 
PIPE

TYP.

1' - 0"

OPENING IN 
LOG WALL

SPACING

SCHEDULED
TYP.

0' - 6"

LOG PINNING KEY
-  LOG PINNING PREVIOUS COURSE

-  LOG PINNING THIS COURSE

CENTERLINE OF FOOTING, 
FOUNDATION WALL, SOLE PLATE & 

LOG WALL

CENTERLINE OF 
FOOTING, 

FOUNDATION 
WALL, SOLE 
PLATE & LOG 

WALL

LINE OF LOG WALL ABOVE

1/2 of FOUNDATION WALL WIDTH - CONSTANT

FOUNDATION WALL

LINE OF FOUNDATION WALL

LINE OF SOLE PLATE

HOLES FOR 
PINNING TO BE PRE-
DRILLED BY P.L.&T.

7/8" O.D. GALVINIZED PIPE PINS TO B SUPPLIED 
BY P.L.&T. AND INSTALLED BY G.C.

2x FURR WALL STUDS

CABINETS

SUBFLOOR

LOG FLOOR JOIST, WALL LOG 
OR LOG PURLIN

SIMPSON ST22 STRAP 
(SUPPLIED & INSTALLED BY G.C.)

PULL JOINT TOGETHER w/ 
COME-ALONG IF NECESSARY

5/8" Dia. x 12" LAGS (SUPPLED 
BY PL&T & INSTALLED BY G.C.

TIE LOG, WALL LOG OR 
LOG GABLE

HEADER 
LOG

JAMB 
UNIT

(2) - 2x 
ROUGH BUCKS 

1x EXTERIOR 
AND INTERIOR 
TRIM

(2)-3/8"x12" 
GRK 
SCREWS (4" 
MIN. EMBED.)

3/8"x 3" 
PLYWOOD
SPLINE

SILL 
LOG

(2) - 2x 
ROUGH 
BUCKS 

TOP VIEW

LOG 
WALL

JAMB 
UNIT

1x EXTERIOR 
AND INTERIOR 
TRIM

(2)-3/8"x12" GRK 
SCREWS (4" MIN. 
EMBED.)

3/8"x 3" 
PLYWOOD
SPLINE

SIDE VIEW

HEADER 
LOG

JAMB 
UNIT

(2) - 2x 
ROUGH 
BUCKS 

1x EXTERIOR 
AND INTERIOR 
TRIM(2)-3/8"x12" GRK 

SCREWS (4" MIN. 
EMBED.)

3/8"x 3" 
PLYWOOD
SPLINE

(2) - 2x 
ROUGH 
BUCKS 

SIDE VIEW TOP VIEW

LOG 
WALL

JAMB 
UNIT

1x EXTERIOR 
AND INTERIOR 
TRIM

(2)-3/8"x12" GRK 
SCREWS (4" MIN. 
EMBED.)

3/8"x 3" 
PLYWOOD
SPLINE

OUTLOOKERS PER FRAMING PLAN

STUB PURLIN

(2) 5/8" Dia. x 10" LAGS
4" MIN. EMBEDMENT

2x12 BLOCKING, RIPPED TO FIT

6x6 SUPPORT POST, SCRIBED 
TO FIT TO UNDERSIDE OF PURLIN

2x FRAMING AT GABLE WALL

5/8" Dia. x 12 LAG
4" MIN. EMBEDMENT
TOP & BOTTOM OF POST

2x BOTTOM PLATE

LOG WALL

SECTION AT 
OPENING

P.L.&T. RECOMMENDS G.C. TO CUT 
WINDOW & DOOR OPENINGS AFTER 
LOADING & SETTLING OCCURS

G.C. TO INSTALL PLYWOOD SHIMS 
AS NEEDED BEFORE CUTTING OUT 
WINDOW & DOOR OPENINGS

LINE OF DOOR OR WINDOW OPENING

LOG WALL

PLWOOD SHIM

CHINK JOINT AT LOG WALL

1/2" OSB SHEATHING
w/ 8d NAILS @ 6" o.c. 

EDGES

1 3/4" x 11 7/8" LVL 
RAFTER - SISTER TO
SHORT SIDES OF 
FIREPLACE 
ENCLOSURE

(2) - SIMPSON LSTA 30
STRAPS @ EACH 
CORNER

CENTERLINE
OF STRAPS

(2) - SIMPSON 0.220" x 5" 
SDWS SCREWS
@ EACH STUD - SHORT 
SIDE

5/8" PLYWD SHEATHING 

FR
A
M

IN
G

 B
R
EA

K

2
'-0

" M
A
X.

(1) - SIMPSON 0.220" x 5" 
SDWS SCREWS @ 8" 
o.c. PERIMETER

2x6 STUDS @
12" o.c. - TYP.

(2) - 2x6 STUDS @
CORNERS - TYP.

1 3/4"x11 7/8" LVL w/
MIN. (12) .22"x5" SDWS
SCREWS TO CHIMNEY 
FRAMING, BOTH SIDES
W/HUCQ1.81/11-SDS
HANGERS TO LVL RAFTER

8d NAILS @ 6" o.c.
AROUND PERIMETER

2

D

FULL HEIGHT LSL STUDS aT 16" o.c.

(3) - STUDS AT CORNERS - TYP..

THIS WALL ON TOP OF LOG 
WALL - CENTERED.

1/2" STHG. w/ 8d NAILS @
6" o.c. PANEL AND 12" o.c.
FIELD - TYP.

NOTE:
BOLT WALL PLATES TO CONCRETE HEARTH SLAB w/ 5/8" DIA. 
ANCHOR OR EPOXY BOLTS @ CORNERS AND @ 48" MAX. 

WALL PLATE ABOVE LOG WALL TO BE BEVELED AND 
ATTACHED TO LOG WALL w/ 5/8" LAGS @ 16" o.c. (4" EMBED)

CRICKET BY OTHERS
AS REQUIRED

P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:3

7 
PM

11-5-21

-

LO
S 

G
AT

O
S,

 C
A

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

S4.0

-

-

TY
PI

C
AL

 R
O

U
N

D
 L

O
G

 D
ET

AI
LS

3/4" = 1'-0"5 FRAME WALL TO ROUND LOG WALL
1/2" = 1'-0"2 ROUND LOG PINNING & SPIKING DETAIL

1" = 1'-0"1

ROUND LOG WALL & FOUNDATION
RELATIONSHIP

3/4" = 1'-0"3 ROUND LOG WALL PINNING DETAIL
1/2" = 1'-0"4 FURRED ROUND LOG WALL

3/4" = 1'-0"6 ROUND LOG BUTT SPLICE
1" = 1'-0"7 WINDOW IN ROUND LOG WALL

1" = 1'-0"8 DOOR IN ROUND LOG WALL

3/4" = 1'-0"11 ROUND STUB PURLIN AT GABLE WALL
3/4" = 1'-0"10

ROUND LOG SHIMMING @ WINDOW &
DOOR OPENINGS

1" = 1'-0"12 FIREPLACE FRAMING

PLT TO PROVIDE LOG TO LOG CONNECTIONS ONLY, ALL 
OTHER CONNECTIONS AND HARDWARE SHOWN ON THESE 
PLANS TO BE PROVIDED BY OTHERS

1/2" = 1'-0"13 FIREPLACE PLAN AT FLUE

11/5/2021

STRUCTURAL ONLY



11 7/8" I-JOIST - SEE PLAN
FOR INFORMATION

T.O. SUB-FLOOR

FOOTING - SEE PLAN 
FOR SIZE w/ (4) - #4 EACH WAY 
- 3" MIN. FROM OUTSIDE FACE

GRID

CENTERLINE OF
LOG POST, FRAME POST
AND FOOTING

3/4" PLYWD. 
SUB-FLOOR

CONTINUOUS TRUSS
JOIST BLOCKING

STRUCTURAL BEAM
PER FLOOR FRAMING
PLAN

SIMPSON CC
POST CAP

P.T. POST w/
SIMPSON ABU OR
CB POST BASE -
SEE PLAN FOR
SIZE

CONT. FLASHING

3
' -

 0
" M

IN
.

GRADE

CONT. FOOTING - SEE PLAN 
FOR SIZE w/ (3) - #4 CONT. 

8" CONCRETE STEM WALL
w/ #4's @ 18" o.c. VERT. &
#4's @ 12" o.c. HORIZ. - CENTERED

2x6 P.T. SILL PLATE
w/ CONT. SILL SEAL

5/8" Dia x 10" ANCHOR 
BOLT  48" o.c. MAX. 
SPACING & 6" EMBED. 

2x6 FRAME WALL
w/ STUDS @ 24" o.c.
w/ 1/2" GWB - INTERIOR
AND 1/2" OSB EXTERIOR SHEATHING
AND EXT. FINISH PER OWNER

6" CONCRETE SLAB
w/ #4's @ 18" o.c. EACH 
WAY ON 6" COMPACTED
GRAVEL BASE 

T.O. SUB-FLOOR

GRID

OUTSIDE FACE OF
LOG WALL, SILL PLATE
AND FOUNDATION WALL

M
IN

.

0
' -

 6
"

C
LR

0
' -

 3
"

CLR

0' - 3"

8d NAILS @ 6" o.c. @
PANEL EDGES & 12" 
o.c. @ FIELD - TYP. 
MECH ROOM 

12" DIA. CONCRETE PIER
w/ (4) - #4's VERTICAL 
w/ STANDARD HOOK
& #3 TIES @ 12"o.c. MIN.
AND (3) #3 TIES @ 4" o.c.
AT TOP

(2) - 5/8" Dia x 6" 
AT BOLTS -
COUNTERSINK 

BIGFOOT CONCRETE PIER 
FOOTING - SEE PLAN 

GRID

CENTERLINE OF
LOG POST, FRAME POST
AND FOOTING

LOG OR TIMBER
POST

SECTION ABOVE PIER

CONCRETE PIER
(BELOW) 

POST BASE ASSEMBLYPOST 

5/8" DIA. x 10" 
ANCHOR BOLT - TYP.
- SUPPLIED AND INSTALLED
BY G.C.

FRONT VIEW

0' - 1" 0' - 4" 0' - 1"

SEE DETAIL    FOR 
POST BASE STEEL 
SHOP DETAIL

2' - 0"

0
' -

 6
"

3
' -

 0
" M

IN
.

TY
P.

 A
LL

 R
E B

A
R

0
' -

 3
" C

LE
A
R

POST BASE ASSEMBLY:
3/8"x4"x14" KNIFE PLATE
WELDED TO 1/2"x6"x6" 
BASE PLATE - SET ON TOP
OF 1" MIN. NON-SHRINKING 
GROUT

(2) - 5/8" Dia x 10" ANCHOR 
BOLTS - 6" EMBED. -
SUPPLIED AND INSTALLED 
BY G.C.

ORIENTATE KNIFE PLATE
PERPENDICULAT TO 
BEAM - ABOVE

SIDE VIEW

0'
 - 

0 
1/

2"
1'

 - 
2"

0'
 - 

6"
0'

 - 
6"

0'
 - 

2"

1'
 - 

2 
1/

2"

SECTION THR PIER

POST BASE ASSEMBLY
(ABOVE)

5/8" DIA. x 10" 
ANCHOR BOLT - TYP.
- SUPPLIED AND INSTALLED
BY G.C.

0' 
- 1

 1
/2

"

GRID
OUTSIDE FACE OF
LOG WALL, SILL PLATE
AND FOUNDATION WALL

WALL LOGS
(SEE WALL 
SHOPS FOR 
INFORMATION) 

11 7/8" I-JOIST - SEE PLAN
FOR INFORMATION

CONT. FOOTING - SEE PLAN 
FOR SIZE w/ (2) - #4 BARS @ 
12" o.c. EACH WAY

5/8" Dia x 8" ANCHOR 
BOLT @ 48" o.c. MIN. 
SPACING & 6" EMBED. 

8" CONCRETE STEM WALL
w/ #4's @ 18" o.c. VERT. &
#4's @ 12" o.c. HORIZ. - CENTERED

3' - 0"

CONCRETE FOOTING 
- SEE PLAN

TOP OF CONCRETE WALL
AT FRAME FLOOR

WALL STEP -
UP AT FIREPLACE
CONCRETE SLAB

#4's @ 18" o.c. - CENTERED

8" STRUCTURAL CONCRETE 
SLAB w/ #4's @ 12" o.c. EACH WAY

4' - 3"

FIRPLACE INSERT
-36" ISOKERN MAGNUM
FIREBOX SHOWN

0
' -

 3
"

2' - 4"

0' - 5" 1' - 11"

(2) - 5/8" DIA. EPOXY BOLTS
OR 5/8"x10" AB's @ 32" o.c. STAGGERED 
(MIN 4") AND 4" MIN EMBED.

1
' -

 6
 5

/8
"

2'-0"

2'
-0

"

T.O. SUB-FLOOR

0
' -

 4
"

P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:3

8 
PM

11-5-21

-

LO
S 

G
AT

O
S,

 C
A

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

S4.1

-

-

R
O

U
N

D
 L

O
G

 F
O

U
N

D
AT

IO
N

 D
ET

AI
LS

1" = 1'-0"3

BEAM TO POST & FOOTING - w/o
STRUCTURAL POST ABOVE 1

1" = 1'-0"2

MECH ROOM FOUNDATION WALL -
FRAME WALL

1" = 1'-0"4 POST TO PIER FOOTING 1

1" = 1'-0"1

FIREPLACE FOUNDATION -ROUND LOG
WALL

PLT TO PROVIDE LOG TO LOG CONNECTIONS ONLY, ALL 
OTHER CONNECTIONS AND HARDWARE SHOWN ON THESE 
PLANS TO BE PROVIDED BY OTHERS

11/5/2021

STRUCTURAL ONLY



FLAT ON T.O.W. BY P.L.&T.

LOG WALL

2x6 CONTINUOUS PLATE w/ 5/8" Dia x 8" LAG 
@ 8" O.C.

SIMPSON H2.5

LINE OF BLOCKING BETWEEN 
TRUSSES

BOUNDARY NAILING

ROOF SHEATHING

MANUFACTURED TRUSS

16d TOE-NAILS @ 
6" o.c.

ROUND LOG 
PURLIN

5/8" Dia. x 12" LAGS -
5" MIN. EMBED. (SUPPLED BY PL&T & 
INSTALLED BY G.C.

LOG POST

PURLIN SPLICE -
WHERE REQUIRED

LOG PURLIN

FLAT ON T.O.W. BY P.L.&T.

2x6 CONTINUOUS PLATE w/ 5/8" Dia x 8" LAG 
@ 8" O.C.

SIMPSON H2.5

LINE OF BLOCKING BETWEEN 
TRUSSES

BOUNDARY NAILING

ROOF SHEATHING

MANUFACTURED TRUSS

16d TOE-NAILS @ 
6" o.c.

FRAME ROOF:
ROOF FINISH
5/8" PLYWD SHEATHING 
MANUFACTURED TRUSS @ 
24" o.c. 2x6 T&G DECKING

4x4 BLOCKING 
BETWEEN RAFTERS

(2)- 5/8" Dia x 10" 
LAG - 6" EMBED. 

STUB PURLIN

2x OUTLOOKER

SIMPSON CLIP - EACH SIDE

LOG WALL

5/8" Dia x 12" LAG BOLT

LINE OF BLOCKING BETWEEN 
RAFTERS

BOUNDARY NAILING
- 8d NAILS @ 6" o.c.

ROOF SHEATHING

2x SISTERED RAFTER

SIMPSON H2.5

LOG RAFTER

11 7/8" TRUSS JOIST 
RAFTER

WEB FILLER

MIN. 1
 1/2 x O

VER
HANG

SHEATHING

16d TOE-NAILS 
@ 6" o.c.

(6) - 10d NAILS
SISTERED RAFTER TO 
TRUSS JOIST RAFTER
@ EACH END

5/8" Dia x 12" LAG BOLT

BLOCKING BETWEEN 
RAFTERS

ROOF SHEATHING

11 7/8" TRUSS JOIST 
RAFTER - SEE PLAN 
FOR SIZE

LOG PURLIN

T&G DECKING

SIMPSON LSTA30 
STRAP @ EVERY 
OTHER RAFTER

FLAT ON T.O.W. BY P.L.&T.

LOG WALL

2x6 CONTINUOUS PLATE w/ 5/8" Dia x 8" LAG 
@ 8" O.C.

SIMPSON H2.5

LINE OF BLOCKING BETWEEN 
RAFTERS

BOUNDARY NAILING
- 8d NAILS @ 6" o.c.

ROOF SHEATHING

MANUFACTURED TRUSS

R
A
IS

E D
 H

EE
L

0
' -

 1
0

 3
/3

2
"

SHEATHING

5/8" Dia x 12" LAG BOLT

BLOCKING BETWEEN 
RAFTERS

LOG RAFTER

2x6 RAFTER

LOG PURLIN

ROOF SHEATHING

T&G DECKING

8d NAILS @ 6" o.c.

16d TOE-NAILS @ 
6" o.c.

5/8" Dia x 12" LAG BOLT

LOG RAFTER

2x6 RAFTER 
@ 24" o.c.

LOG PURLIN

BLOCKING BETWEEN 
RAFTERS

ROOF SHEATHING

T&G DECKING

SIMPSON LSTA30 
STRAP @ EVERY 
OTHER RAFTER

LOG PURLIN

LOG POST

3/4" DIA. x 20" AT
w/  DOWEL NUT 
AND 3" WASHERS 
- TYP.

0' - 8"

LOG PURLIN

LOG POST

TIE-LOG
REVERSE 
NOTCH PURLIN 
FOR TIE-LOG

5/8" Dia. x 12" LAGS -
4" MIN. EMBED. 
(SUPPLED BY PL&T & 
INSTALLED BY G.C.

2x6 CONTINUOUS PLATE w/ 
5/8" Dia x 8" LAG @ 8" O.C.

1
' -

 2
"

0
' -

 2
"

0
' -

 6
"

0
' -

 6
"

0' - 2" 0' - 2"

0' - 1" 0' - 4" 0' - 1"

SIDE VIEW

FRONT VIEW

3/8"x4"x14"
KNIFE PLATE
w/ 1/2"x6"x6"
BASE PLATE

SLOTTED 11/16" DIA. 
HOLE FOR 5/8" 
DIA. x 7"  AT BOLT 
- TYP.

5/8" DIA. x 8" 
ANCHOR BOLT - TYP.
- SUPPLIED AND INSTALLED
BY G.C.

3/8"x4"x14"
KNIFE PLATE
w/ 1/2"x6"x6"
BASE PLATE

11/16" DIA. HOLE
FOR 5/8" DIA. x 7" 
AT BOLT - TYP.

5/8" DIA. x 8" 
ANCHOR BOLT - TYP.
- SUPPLIED AND INSTALLED
BY G.C.

0' - 1" 0' - 4" 0' - 1"

0
' -

 3
"

0
' -

 3
"

0' - 6"

0
' -

 6
"

0' - 2 13/16" 0' - 0 3/8" 0' - 2 13/16"

0
' -

 1
"

0
' -

 4
"

0
' -

 1
"

3/8"x4"x14"
KNIFE PLATE
w/ 1/2"x6"x6"
BASE PLATE

PLAN VIEW

0
' -

 2
"

0
' -

 2
"

SUPPLIED AND INSTALLED BY G.C.8 REQUIRED 
BLACK PAINT FINISH

0
' -

 1
 7

/1
6
" d

ia
.

0' - 5" 0' - 0 15/32"

0' - 5 15/32"

SIDE VIEW

3/8/" NUT - WELDED TO BAR11/16"  HOLE - TAPPED 
FOR 3/4" BOLT

END VIEW

(2) -  REQUIRED  
BLACK PAINT FINISH

17/16"  dia. STEEL BAR
SIDE VIEW

(4) -  REQUIRED  
BLACK PAINT FINISH

1 1/2" STD PIPE (1.9" 
o.d.) x 18"

P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:3

8 
PM

11-5-21

TH

LO
S 

G
AT

O
S,

 C
A

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

S4.2

-

-

R
O

U
N

D
 L

O
G

 R
O

O
F 

D
ET

AI
LS

1" = 1'-0"1 LOG WALL @ EAVE
1" = 1'-0"2 PORCH BEAM TO POST

1" = 1'-0"3

MANUFACTURED TRUSS AT PORCH
BEAM

1" = 1'-0"4 STUB PURLIN DETAIL

1" = 1'-0"5 LOG WALL @ EAVE - LIVING ROOM
1" = 1'-0"6 LIVING ROOM ROOF AT RIDGE

1" = 1'-0"7 KITCHEN ROOF @ EAVE
1" = 1'-0"8

COVERED PATIO RAFTER TO EAVE
BEAM

1" = 1'-0"9

COVERED PATIO RAFTER TO RIDGE
BEAM

1" = 1'-0"10 PORCH BEAM TO PATIO POST
1" = 1'-0"11 TIE-LOG TO PORCH BEAM

1 1/2" = 1'-0"12 POST BASE SHOP
3" = 1'-0"13 SHOP - DOWEL NUT

PLT TO PROVIDE LOG TO LOG CONNECTIONS ONLY, ALL 
OTHER CONNECTIONS AND HARDWARE SHOWN ON THESE 
PLANS TO BE PROVIDED BY OTHERS

3" = 1'-0"14 SHOP - PIPE TENON

11/5/2021

STRUCTURAL ONLY



2 3 4 5

1' - 6" 22' - 0" 1' - 4"

9' - 0" 2' - 0"

24' - 10"

8" / 1'-0"

7/8" O.D. x 15" GALVANIZED
STEEL PIPE -TYP. AS SHOWN

3/8" DIA. x 12" SPIKES
AT LOG CORNERS - TYP

4'-0"x6'-0"
WINDOW

4'-0"x6'-0"
WINDOW5'-0"x6'-0"

WINDOW

4'-0"x3'-0"
WINDOW

4'-0"x3'-0"
WINDOW

5'-0"x5'-0"
WINDOW LRWP-3

10"
LRWP-1

10"

EP
P-

1
12

"

EPPR-1
10"

EPTL-1
10"LRWP-2

10"
LRWP-4

10"

LRSWP-2
10"

LRSWP-3
10"

LRSRP-1
10"

BF
G

24

8
' -

 0
" +

/-

1
2
' -

 6
" +

/-

1
4
' -

 6
" +

/-

6" FLAT

9' - 0" 2' - 0"

22' - 0"

4x
6 

PO
ST

 B
Y 

O
TH

ER
S 

-T
YP

.

10" DIA - WW
SELECT LOG

1 2 3 4 6

B

A

D

C

E

5

LIVING
ROOM

ENTRY

BEDROOM 
#1

SUN ROOM

MSTR.
BATH

MSTR
BEDROOM

KITCHENMECH

COVERED 
PORCHCOVERED 

PORCH REAR COVERED 
DECK

BEDROOM 
#2

COVERED
ENTRYD1

E

D1

1

B

6

2 4C

S4.0
2

S4.0
1

S4.0
5S4.0

8 S4.0
4

S4.0
10

S4.0
7

1 2 3 4 65

1' - 11" 8' - 0" 8' - 0" 8' - 0" 2' - 1"

1' - 6" 28' - 0" 1' - 4" 1' - 6"25' - 0"1' - 4"

4' - 6" 4' - 6" 8' - 0" 8' - 0"

7/8" O.D. x 15" GALVANIZED
STEEL PIPE -TYP. AS SHOWN

3/8" DIA. x 12" SPIKES
AT LOG CORNERS - TYP

5'-6"x6'-0"
WINDOW

5'-6"x6'-0"
WINDOW

5'-6"x6'-0"
WINDOW

P-
3

14
"

P-
6

14
"

P-
4

14
"

P-
5

14
"

LRWP-3
10"

LRWP-1
10"

EPTL-1
10"

WWP-1
10"

WWP-2
10"

LRWP-2
10"

LRWP-4
10"

LRRP-1
10"

LRR-3

10"
LRR-410"

FULL ROUND

3' - 0"

6" FLAT

28' - 0"

FULL RND

1' - 4"

6
' -

 8
" +

/-

FULL ROUND

3' - 0"

6" FLAT

25' - 0"

FULL RND

1' - 4"

22' - 0"

11' - 0" 11' - 0"

8" / 1'-0"

4'-0"x7'-0"
DOOR

WALL D1 WALL D2

3'-0"x5'-0"
WINDOW

3'-0"x5'-0"
WINDOW

3'-0"x5'-0"
WINDOW

6
' -

 9
 3

/4
" +

/-

7
' -

 0
" +

/-

BA D

15' - 0 5/8" 6' - 5 5/8" 1' - 11"

1' - 4" 30' - 0" 1' - 4"

32' - 8"

8' - 0"

P-
1

14
"

P-
2

14
"

PP
-1

12
"

WWP-1
10"

WWP-4
10"

PTL-1
10"

PPR-1
10"

STB-RP1
10"

SSTB-PR1
10"

STB-PR2
10"

STB-PR4
10"

STB-PR3
10"

BF
G

24

???

FW
P-

2
3 

1/
2"

x1
1 

1/
4"

FW
P-

1
3 

1/
2"

x1
1 

1/
4"

FULL RND

1' - 4"

6" FLAT

30' - 0"

FULL RND

1' - 4"

2' - 0" 10' - 9" 17' - 3"

7/8" O.D. x 15" GALVANIZED
STEEL PIPE -TYP. AS SHOWN

2'-8"x5'-0"
WINDOW

7
' -

 0
" +

/-

15' - 0 5/8" 6' - 6 3/4"

5'-0"x6'-0"
WINDOW

7
' -

 6
" +

/-

6" / 1'-0"

6" FLAT

8' - 0"

P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:4

2 
PM

11-5-21

TH

LO
S 

G
AT

O
S,

 C
A

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

S5.0

-

-

LO
G

 W
AL

L 
SH

O
P 

EL
EV

AT
IO

N
S 

#1

1/4" = 1'-0"1 GRID E WALL ELEVATION

1/8" = 1'-0"2 LOG WALL KEY PLAN

LOG WALL HARDWARE SCHEDULE

QTY. ITEM DESCRIPTION

630 7/8"DIA. x 15" GALV. PIPE PINS -

320 3/8"DIA. x 12" SPIKES -

WALL LOG NOTES:

WINDOWS AND DOOR OPENINGS ARE DIMENSIONED ON 
WALL ELEVATIONS w/o (2) - 2x BUCKS INCLUDED IN R.O. 
CALLOUT. G.C. TO TO CUT OPENINGS AFTER TOTAL 
LOADING (ie ROOF AND FLOOR LOADS) AND SUPPLY AND 
INSTALL ROUGH BUCKS.

WINDOW AND DOOR OPENINGS SHOWN ON LOG LAYOUTS 
ARE SIZED PER GENERIC WINDOW AND DOOR SIZES. G.C.
TO ADJUST OPENINGS FOR THE SPECIFIC WINDOW AND 
DOOR MANUFACTURER SIZES.

PLT TO PRE-DRILL LOGS FOR WALL PINS. PLT TO SUPPLY 
GALVANIZED WALL PINS.  G.C. TO INSTALL PINS WHEN RE-
SETTING STUCTURE. WALL PIN SPACING NOT TO EXCEED
4'-0" UNLESS NOTED OTHERWISE.

G.C. TO SUPPLY AND INSTALL HARDWARE AND MATERIAL 
FOR LOG WALL TO FRAME FLOOR AND / OR CONCRETE 
STEM WALL CONNECTION. 

ARROW DENOTES VIEW DIRECTION OF ELEVATIONS ON KEY 
PLAN.

WALL ELEVATIONS ARE SHOWN AT 1/4" = 1'-0" SCALE 
UNLESS NOTED OTHERWISE.

1/4" = 1'-0"3 GRID D WALL ELEVATION
1/4" = 1'-0"4 GRID 1 WALL ELEVATION

PLT TO PROVIDE LOG TO LOG CONNECTIONS ONLY, ALL 
OTHER CONNECTIONS AND HARDWARE SHOWN ON THESE 
PLANS TO BE PROVIDED BY OTHERS

11/5/2021

STRUCTURAL ONLY



BA DC E

7/8" O.D. x 15" GALVANIZED
STEEL PIPE -TYP. AS SHOWN

5'-0"x6'-0"
WINDOW6'-0"x7'-0"

DOOR

KWP-2
10"

LRWP-1
10"

PP
-3

12
"

PPR-3
10"

TR3-BC1
10"

PKB-18"

WWP-1
10"

WWP-4
10"

PPR-1
10"

LRWP-2
10"

KWP-1
10"

LRSWP-3
10"

BF
G

24

TR
1-

TC
1

12
"

LL
R

-5
10

"

PTL-2
10"

R
-7 8"R
-1 8" R
-3 8" R
-5 8"

TR
2-

TC
1

12
"

LR
R

-1
10

"

FULL ROUND

6' - 0"

FULL ROUND

8' - 0"

6" FLAT

16' - 0"

PICH CUT FLAT

25' - 0" 3' - 0"

43' - 10"

1' - 4" 41' - 0" 1' - 6"

1' - 4" 4' - 5 29/32" 9' - 6 3/32" 6' - 7" 4' - 5"

8
' -

 0
" +

/-

7
' -

 0
" +

/-

1' - 4"

0' - 6" 4' - 0" 4' - 0" 4' - 0" 1' - 6"

2' - 0" 4' - 0"

4' - 6" 4' - 0" 4' - 0" 4' - 6"

14' - 0" 11' - 0"

6' - 0" 8' - 0"

14' - 0"

B AD CE

7/8" O.D. x 15" GALVANIZED
STEEL PIPE -TYP. AS SHOWN

5'-0"x6'-0"
WINDOW

6'-0"x8'-0"
OPENING

43' - 10"

1' - 6" 41' - 0" 1' - 4"

1' - 4"

11' - 0" 14' - 0" 1' - 4"

4' - 5" 6' - 7" 4' - 4" 9' - 8"

3' - 0" 49' - 0"

4' - 6" 4' - 0" 4' - 0" 4' - 0" 4' - 0" 4' - 6"
PITCH CUT FLAT

11' - 0"

PITCH CUT FLAT

14' - 0"

6" FLAT

16' - 0"

FULL ROUND

3' - 0"

KWP-5
10"

KWP-6
10"

LRWP-3
10"

EPPR-1
10"

PP
-5

12
"

PPR2
10"

WWP-2
10"

WWP-3
10"

LRWP-4
10"

LRSWP-2
10"

BF
G

24

?

TR
1-

TC
2

12
"

LR
R

-6
10

" TR
2-

TC
2

12
"

LR
R

-4
10

"

LR
R

-2
10

"

8
' -

 0
" +

/-

KWP-6A
10"

2 3 4

7/8" O.D. x 15" GALVANIZED
STEEL PIPE -TYP. AS SHOWN

3/8" DIA. x 12" SPIKES
AT LOG CORNERS - TYP

7'-0"x6'-0"
DOOR

7
' -

 2
 1

/2
" +

/-

7' - 8" +/-

1' - 6" 22' - 0" 1' - 4"

24' - 10"

15' - 3 1/4" 6' - 8 3/4"

11' - 0" 11' - 0"

KWP-3
10"

KWP-4
10"

LRWP-3
10"

LRWP-1
10"

R
B-

1
4x

12

R
B-

2
4x

12

RBH-1
4x12

LRWP-2
10"

LRWP-4
10"

LRRP-1
10"

? ?

8" / 1'-0"

12346

78' - 0"

1' - 6" 75' - 0" 1' - 6"

28' - 0"11' - 0"11' - 0"25' - 0"

2'-0"x3'-0"
WINDOW

2'-0"x3'-0"
WINDOW

2'-8"x3'-0"
WINDOW

2'-8"x3'-0"
WINDOW

2'-8"x3'-0"
WINDOW

2'-8"x3'-0"
WINDOW

3'-0"x7'-0"
DOOR 6'-0"x6'-8"

DOOR
6'-0"x6'-8"
DOOR

FULL ROUND

3' - 0" 75' - 0"

FULL ROUND

3' - 0"

6" FLAT

28' - 0"

6" FLAT

22' - 0"

6" FLAT

25' - 0"

6' - 3"15' - 5 31/32"6' - 3"5' - 3 3/4"3' - 5 1/4"2' - 3"3' - 2 3/4"7' - 9 1/4"4' - 10 1/4"10' - 6 1/2"4' - 10"4' - 9 1/4"

8" / 1
'-0"

7/8" O.D. x 15" GALVANIZED
STEEL PIPE -TYP. AS SHOWN

3/8" DIA. x 12" SPIKES
AT LOG CORNERS - TYPKWP-5

10"

KWP-6
10"

PTL-4
10"

PPR-3
10"PPR-4

10"

WWP-4
10"

PTL-1
10"

WWP-3
10"

KRP-1
10"

PRP-1
10"

PTL-3
10"

PTL-2
10"

R-78"R-8
8"

7
' -

 0
" +

/-

7
' -

 0
" +

/-

6
' -

 8
" +

/-

P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:4

5 
PM

11-5-21

TH

LO
S 

G
AT

O
S,

 C
A

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

S5.1

-

-

LO
G

 W
AL

L 
SH

O
P 

EL
EV

AT
IO

N
S 

#2

1/4" = 1'-0"1 GRID 2 WALL ELEVATION
1/4" = 1'-0"2 GRID 4 WALL ELEVATION

1/4" = 1'-0"3 GRID C WALL ELEVATION
1/4" = 1'-0"4 GRID B WALL ELEVATION

11/5/2021

STRUCTURAL ONLY



B AD

7/8" O.D. x 15" GALVANIZED
STEEL PIPE -TYP. AS SHOWN

3'-0"x5'-0"
WINDOW

6" / 1
'-0"

3'-0"x4'-0"
WINDOW

3'-0"x5'-0"
WINDOW

33' - 0"

1' - 6" 30' - 0" 1' - 6"

8' - 0"

2' - 4 3/4" 12' - 11 1/2" 10' - 0" 4' - 7 3/4"

3" / 1'-0"

PP
-7

12
"

PPR2
10"

PTL-4
10"

WWP-2
10"

STB-RP2
10"

STB-PR6
10"

STB-PR8
10"

STB-PR7
10"

WWP-3
10"

STB-PR5
10"

BF
G

24

1' - 6"

6" FLAT

30' - 0" 1' - 6"

6" FLAT

8' - 0"

P
IO

N
E

E
R

 L
O

G
 &

 T
IM

B
E

R
13

44
 H

W
Y

 9
3 

N
O

R
T

H
V

IC
T

O
R

, M
O

N
T

A
N

A
59

87
5

REVISIONS

P
H

O
N

E
: 

40
6-

96
1-

32
73

P
L

T
M

O
N

T
A

N
A

.C
O

M

ENGINEERED BY

PREVIOUS ISSUES

DATE

SHEET

DRAWN BY:

JOB NUMBER

11
/5

/2
02

1 
3:

12
:4

7 
PM

11-5-21

TH

LO
S 

G
AT

O
S,

 C
A

TI
LL

ER
 R

ES
ID

EN
C

E

21-003

S5.2

-

-

LO
G

 W
AL

L 
SH

O
P 

EL
EV

AT
IO

N
S 

#3

1/4" = 1'-0"1 GRID 6 WALL ELEVATION

11/5/2021

STRUCTURAL ONLY



 
SCALE: 3/4" = 1'-0"

1
 
SCALE: 3/4" = 1'-0"

3
 
SCALE: 3/4" = 1'-0"

2
 
SCALE: 3/4" = 1'-0"

4

2x6 DECKING

RIDGE BEAM

LOG BLKG. BETWEEN
LOG RAFTERS

TJI JOIST

ROOF SHTG.

'SIMPSON' LSTA30
STRAP

LOG WALL
-SEE PLAN

16d TOE-NAILS
@ 6" o.c.

8d NAILS @ 6" o.c.

8d NAILS @ 6" o.c.

8d NAILS @ 6" o.c.

PRE-FAB TRUSS
@ 24" o.c.

PRE-FAB TRUSS
(BEYOND) @ 24" o.c.

ROOF SHTG.

2x BEVELED,
VENTED BLKG.

LOG WALL
-SEE PLAN

2x4 @ 24" o.c.

2x4 BRACE @ 48" o.c.
MAX OR BRACE  PER
TRUSS MFR.

PRE-FAB TRUSS
@ 24" o.c.

'SIMPSON' A35

ROOF SHTG.

8d @ 6" o.c.

2x6 STUDS
@ 16" o.c.

8d @ 6" o.c.

WALL SHTG.

2x6

5/8"ø x 8" LAG @ 32" o.c.,

LOG WALL
-SEE PLAN

16d TOENAILS
@ 6" o.c.

LVL BLKG OR RIM

8d NAILS @ 6" o.c.

PRE-FAB TRUSS
@ 24" o.c.

8d NAILS @ 6" o.c.PRE-FAB OVERFRAMING
TRUSSES @ 24" o.c.

ROOF SHTG.

8d NAILS @ 6" o.c.

12

8

ROOF SHTG.

TJI RAFTERS
-SEE PLAN

T&G DECKING

LOG WALL
-SEE PLAN

WALL SHTG. 2x6 STUDS
@ 16" o.c.

5/8"ø LAG & WASHER @ 16" o.c.
ON 2x6 PLATE, 4" EMBED
TO LOG

8d @ 6" o.c.

2x STUDS @ 16" o.c.

'SIMPSON' H1, TYP.

PRE-FAB TRUSS
@ 24" o.c.

16d TOENAILS
@ 6" o.c.

8d NAILS @ 6" o.c.

2x VENTED BLKG

8d NAILS @ 6" o.c.

WALL SHTG.

ROOF SHTG.

 
SCALE: 3/4" = 1'-0"

5
 
SCALE: 3/4" = 1'-0"

6

2x STUD w/ 1/2ø" x 8" LAG EVERY
OTHER COURSE INTO SLOTTED HOLE
(SLOT LENGTH = 1/4" PER VERTICAL FOOT)

5/8"ø x 8" LONG
LAG'S @ 8" o.c.

DETAIL
NOT

USED

8d NAILS PER GENERAL
STRUCTURAL NOTES

10d TOENAILS @ 6" o.c.

(2) 4-INCH DIAMETER
VENT HOLES
AT EVERY TRUSS
SPACE

2"x6" NOTCH IN EVERY
LSL/LVL BLOCKING

LSL/LVL BLOCKING
BETWEEN RAFTERS

LOG RAFTER

RIDGE VENT

(2) 16d NAILS
@ 12" o.c.

(2) 4-INCH DIAMETER
VENT HOLES
AT EVERY RAFTER
SPACE

2"

TYP. VENTED BLKG.

6"

2x10 LEDGER w/
10d NAILS @ 6" o.c.

2x4 STUDS
@ 16" o.c.

10"ø LOG WALL

2" MAX.
COUPLER

FLOOR SHTG.

TJI JOISTS
SEE PLAN

8" CONC. FND
REF. FND. DETAILS
SHEET S1.1

5/8"ø ALL-THREAD
L = 69" (CONTRACTOR VERIFY)

51
2" MIN.

81
2" MIN.

(2) HEAVY HEX NUTS
& 1/2"x1 3/4"x1 3/4" WASHER

REINFORCEMENT
NOT SHOWN
REF S1.1

HOLD DOWN -EXTERIOR (HD 5/8" x 69")
SCALE: 3/4" = 1'-0"

7

10"ø LOG WALL

2" MAX.

HEAVY HEX NUT

FLOOR SHTG.

TJI JOISTS
SEE PLAN

8" CONC. FND
REF. FND. DETAILS
SHEET S1.1

5/8"ø ALL-THREAD
L = 52" (CONTRACTOR VERIFY)

51
2" MIN.

81
2" MIN.

(2) HEAVY HEX NUTS
& 1/2"x1 3/4"x1 3/4" WASHER

REINFORCEMENT
NOT SHOWN
REF S1.1

HOLD DOWN -INTERIOR (HD 5/8" x 52")
SCALE: 3/4" = 1'-0"

8

REF 4 & 5 S1.1

T
I
L

L
E

R
 
R

E
S

I
D

E
N

C
E

LO
S 

GA
TO

S,
 C

AL
IF

O
RN

IA

21-07-077

CHECKED BY:

DRAWN BY:

DATE:

REVISIONS

PROJ. #:

11/01/2021

▪
 
 
 
C

:
\
P

r
o
j
e
c
t
s
 
X

Y
Z

 
D

e
s
k
t
o
p
\
0
9
-
2
1
-
1
0
6
 
-
 
t
i
l
l
e
r
 
d
e
t
a
i
l
s
\
S

2
.
1
.
d
w

g
P

r
i
n
t
e
d
 
b
y
:
 
B

E
N

J
A

M
I
N

 
P

O
W

E
L
L

D
a
t
e
:
 
2
0
2
1
-
N

o
v
-
0
4
,
 
6
:
0
2
 
P

M

SHEET:

LG

BP

11
3 

W
ES

T 
M

AI
N

, S
U

IT
E 

B
M

IS
SO

U
LA

, M
T 

59
80

2
EC

LI
PS

E-
EN

G
IN

EE
R

IN
G

.C
O

M
(4

06
) 7

21
-5

73
3

D
E

T
A

I
L

S

S6.1

11/5/2021

STRUCTURAL ONLY


	Sheets
	A0.0 - COVER PAGE
	A1.0 - MAIN FLOOR PLAN
	A2.0 - ELEVATIONS #1
	A2.1 - ELEVATIONS #2
	S1.0 - FOUNDATION PLAN
	S1.1 - FOUNDATION PLAN - 3D VIEW
	S1.2 - MAIN FLOOR FRAMING PLAN
	S1.3 - ROOF FRAMING PLAN
	S1.4 - LOG FRAME SCHEDULES
	S2.0 - SECTIONS #1
	S2.1 - SECTIONS #2
	S3.0 - TRUSS ELEVATIONS #1
	S3.1 - TRUSS ELEVATIONS #2
	S4.0 - TYPICAL ROUND LOG DETAILS
	S4.1 - ROUND LOG FOUNDATION DETAILS
	S4.2 - ROUND LOG ROOF DETAILS
	S5.0 - LOG WALL SHOP ELEVATIONS #1
	S5.1 - LOG WALL SHOP ELEVATIONS #2
	S5.2 - LOG WALL SHOP ELEVATIONS #3


		2021-11-05T15:48:51-0600
	Troy Leistiko




